UGC NET 2022 CRIMINOLOGY

Topic:- 068_PARTA_S2

1)
Which of the following is NOT a tool in survey method?

1. Correlation

2. Questionnaire

3, Interview schedule
4, Interview guide
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[Question ID = 3804][Question Description = 101_68_CRM_SEP22_S2_QO01]
1. 1 [Option ID = 15213]
2. 2 [Option ID = 15214]
3. 3 [Option ID = 15215]
4. 4 [Option ID = 15216]

2)
Who among the following propounded the Labelling theory in 19637

1. Howard Becker
2. Albert Cohen

3, Karl Marx

4, Clarence Schrag
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[Question ID = 3805][Question Description = 102_68_CRM_SEP22_S2_Q02]
1. 1 [Option ID = 15217]
2. 2 [Option ID = 15218]
3. 3 [Option ID = 15219]
4. 4 [Option ID = 15220]



3)
According to R. G. Caldwell, which one of the following is NOT an ebjective of punishment?

1. Punishiment
2. Retribution
3, Deterrence
4, Expiation
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[Question ID = 3806][Question Description = 103_68_CRM_SEP22_S2_QO03]
1. 1 [Option ID = 15221]
2. 2 [Option ID = 15222]
3. 3 [Option ID = 15223]
4. 4 [Option ID = 15224]

4)
‘Matka' is a/an:

1. White collar crime
2. Corporate crime
3, Cyber crime

4, Organized crime

Pfofed # © &9 91 3Ry JeaT 8 2

1. 88 g HTY
2. e ey
3, GI3E¢ AW
4, Griéd Uy

[Question ID = 3807][Question Description = 104_68_CRM_SEP22_S2_Q04]
1. 1 [Option ID = 15225]
2. 2 [Option ID = 15226]
3. 3 [Option ID = 15227]
4. 4 [Option ID = 15228]

5)
Who propounded the conceptthat crime is a 'violation of conduct norms of the nermative groups'?

1. Karl Marx

2. Sutherland

3, Darwin

4, Thorsten Sellin
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[Question ID = 3808][Question Description = 105_68_CRM_SEP22_S2_QO05]
1. 1 [Option ID = 15229]
2. 2 [Option ID = 15230]
3. 3 [Option ID = 15231]
4. 4 [Option ID = 15232]

6)
The strategy of enguiry in Which the researcher studies an intact cultural group in a natural setting over a

proloniged peried of time by collecting, primarily, observations and interview data is called:

1. Grounded theary
2. Case studies

3, Narrative research
4, Ethnography
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[Question ID = 3809][Question Description = 106_68_CRM_SEP22_S2_QO06]
1. 1 [Option ID = 15233]
2. 2 [Option ID = 15234]
3. 3 [Option ID = 15235]
4. 4 [Option ID = 15236]

7)
The strategy of inguiry in which the researcher identifies the essence of human experiences about any

event/process, as described by the participant is called;

1. Ethnography

2. Grounded theory

3, Case study

4, Phenemenological research
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[Question ID = 3810][Question Description = 107_68_CRM_SEP22_S2_QO07]
1. 1 [Option ID = 15237]
2. 2 [Option ID = 15238]
3. 3 [Option ID = 15239]
4. 4 [Option ID = 15240]

8)
A report forwarded by a police officer to a magistrate under Sub-section(2) of Section 173 of the Code of

Criminal Procedure, 1973, is known as;

1.ELR

2. Charge Sheet
3. Final Report
4, Police Report
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[Question ID = 3811][Question Description = 108_68_CRM_SEP22_S2_Q08]
1. 1 [Option ID = 15241]
2. 2 [Option ID = 15242]
3. 3 [Option ID = 15243]
4. 4 [Option ID = 15244]

9)
The Indian Constitution under Article 21 establishes the idea of:

1. Prohibition-of discrimination on the ground of religion, caste, sex or place of birth
2. Right to life and liberty

3. Equality before law

4, Right to freedom
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[Question ID = 3812][Question Description = 109_68_CRM_SEP22_S2_Q09]
1. 1 [Option ID = 15245]
2. 2 [Option ID = 15246]
3. 3 [Option ID = 15247]
4. 4 [Option ID = 15248]



10)
The Identification of Prisoners Act, 1920 is repealed and replaced by a new Act, known as:

1. The Criminal Pracedure (Amendment) Act, 1980
2. The Criminal Pracedure (Amendment) Act, 2008
3, The Criminal Pracedure (Amendment) Act, 2010
4, The Criminal Pracedure (Amendment) Act, 2022
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[Question ID = 3813][Question Description = 110_68_CRM_SEP22_S2_Q10]
1. 1 [Option ID = 15249]
2. 2 [Option ID = 15250]
3. 3 [Option ID = 15251]
4. 4 [Option ID = 15252]

11)
Which of the following theories postulate that individuals who are caught and defined as criminals

develop a self-identity consistent with this view?

. Conflict Theory

. Learning Theory

. Labelling Theory

. Social Bord Theory
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[Question ID = 3814][Question Description = 111_68_CRM_SEP22_S2_Q11]
1. 1 [Option ID = 15253]
2. 2 [Option ID = 15254]
3. 3 [Option ID = 15255]
4. 4 [Option ID = 15256]

12)
Which one of the following are known as the Beijing Rules?

. United Nations Standard Minimum Rules for the Treatment of Prisoners

. United Nations Standard Minimum Rules for the Protection of Women

. United Nations Standard Minimum Rules for the Administration of Juvenile Justice
. United Nations Standard Minimum Rules for the Rights of the Child
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[Question ID = 3815][Question Description = 112_68_CRM_SEP22_S52_Q12]
1. 1 [Option ID = 15257]
2. 2 [Option ID = 15258]
3. 3 [Option ID = 15259]
4. 4 [Option ID = 15260]

13)
Which approach of criminclagical research follows a post-positivist worldview?

1. Qualitative Approach

2, Quantitative Approach

3. Mixed Methods Approach
4, Phenemenology
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[Question ID = 3816][Question Description = 113_68_CRM_SEP22_S52_Q13]
1. 1 [Option ID = 15261]
2. 2 [Option ID = 15262]
3. 3 [Option ID = 15263]
4. 4 [Option ID = 15264]

14)
Shaw and Mckay are propanents of which of the following eriminological explanations?

1. Differential opportunistic structure
2, Sub cuttural explanation

3. Cultural Transmission Theory

4, Multi factor Approach
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[Question ID = 3817][Question Description = 114_68_CRM_SEP22_S2_Q14]
1. 1 [Option ID = 15265]
2. 2 [Option ID = 15266]
3. 3 [Option ID = 15267]
4. 4 [Option ID = 15268]



15)
William Bonger is associated with which of the following?

1. Learring model

2, Crime and economic conditions
3, Labelling approach

4, Sub culture appreach
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[Question ID = 3818][Question Description = 115_68_CRM_SEP22_S2_Q15]
1. 1 [Option ID = 15269]
2. 2 [Option ID = 15270]
3. 3 [Option ID = 15271]
4. 4 [Option ID = 15272]

16)
Who used deterministic approach to explain criminal behavior?

1. Cyril Burt

2. Karl Marx

3, August Aichorn
4 William Healy
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[Question ID = 3819][Question Description = 116_68_CRM_SEP22_S2_Q16]
1. 1 [Option ID = 15273]
2. 2 [Option ID = 15274]
3. 3 [Option ID = 15275]
4. 4 [Option ID = 15276]

17)
Who propounded the concept that crime is ari intentional act in violation of the legal code?

1. Hall Jerome
2, Thorsten Sellin
3, Paul Tappan
4, Ruth Cavan
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[Question ID = 3820][Question Description = 117_68_CRM_SEP22_S52_Q17]
1. 1 [Option ID = 15277]
2. 2 [Option ID = 15278]
3. 3 [Option ID = 15279]
4. 4 [Option ID = 15280]

18)
Whio has defined that ‘Criminality is a social concept, not a bislogical one'?

1. Albert Cohen

2, Alfred Lindersmith
3. Karl Schuessler

4, Hans Eysenck
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[Question ID = 3821][Question Description = 118_68_CRM_SEP22_S52_Q18]
1. 1 [Option ID = 15281]
2. 2 [Option ID = 15282]
3. 3 [Option ID = 15283]
4. 4 [Option ID = 15284]

19)
In luvenile Justice Act, 2015, the preliminary assessment by the Board, is done in the case of:

1. Child above 17 years committing a heinous offence
2, Child above 18 years committing a heinous offence
3. Child in need of care and proiection

4, Child above 16 years committing a heincus offence
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[Question ID = 3822][Question Description = 119_68_CRM_SEP22_S52_Q19]
1. 1 [Option ID = 15285]
2. 2 [Option ID = 15286]
3. 3 [Option ID = 15287]
4. 4 [Option ID = 15288]



20)
When a child above 16 years commits a heinous crime, who conducts a preliminary assessment?

1. Child Welfare Committee
2. Juvenile Justice Board

3, Observatien Home

4, Police
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[Question ID = 3823][Question Description = 120_68_CRM_SEP22_S2_Q20]
1. 1 [Option ID = 15289]
2. 2 [Option ID = 15290]
3. 3 [Option ID = 15291]
4. 4 [Option ID = 15292]

21)
The punishment for aggravated sexual assault as per POCSO Act, is:

1. Life imprisonment

2. Imprisonment between 7-9 years and fine
3, Capital punishment

4, Imprisonment between 5-7 years and fine
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[Question ID = 3824][Question Description = 121_68_CRM_SEP22_S2_Q21]
1. 1 [Option ID = 15293]
2. 2 [Option ID = 15294]
3. 3 [Option ID = 15295]
4. 4 [Option ID = 15296]

22)
The punishment for storage of pornegraphic material involving a child, as per the POCSO Act is:

1. Imprisenment up to 2 years, fine and both
2, Imprisenment up ta 7 years, fine and both
3, Imprisenment up to 3 yeats, fine and both
4 Life imprisonment
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[Question ID = 3825][Question Description = 122_68_CRM_SEP22_S2_Q22]
1. 1 [Option ID = 15297]
2. 2 [Option ID = 15298]
3. 3 [Option ID = 15299]
4. 4 [Option ID = 15300]

23)
The first schedule of the Unlawful Activities Prevention Act, 1967 provides a list of:

1. Related conventions and protocols
2, Terrorist organizations:
3, Security features-of the Indian currency

4, Naxalite grganizations
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[Question ID = 3826][Question Description = 123_68_CRM_SEP22_S2_Q23]
1. 1 [Option ID = 15301]
2. 2 [Option ID = 15302]
3. 3 [Option ID = 15303]
4. 4 [Option ID = 15304]

24)
According to luvenile Justice Model Rules, 2016, a service rendered by children in conflict with Law

includes activities like maintaining a park, serving the elderly, helping at a local hospital, serving disabled
children and serving as traffic volunteers etc, is known as;

1. Social servics

2, Community service
3, Public service

4, Self service
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[Question ID = 3827][Question Description = 124_68_CRM_SEP22_S2_Q24]
1. 1 [Option ID = 15305]
2. 2 [Option ID = 15306]
3. 3 [Option ID = 15307]
4. 4 [Option ID = 15308]

25)
The Juvenile Justice (Care & Protection of Children) Act was amended in the year;

1.2019
2,2020
3, 2021
44,2022
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[Question ID = 3828][Question Description = 125_68_CRM_SEP22_S2_Q25]
1. 1 [Option ID = 15309]
2. 2 [Option ID = 15310]
3. 3 [Option ID = 15311]
4. 4 [Option ID = 15312]

26)
Which among the following laws refers to how facts of each case are handled?

1. Substantive Law
2, Procedural Law
3, Special Law

4 Local Law
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[Question ID = 3829][Question Description = 126_68_CRM_SEP22_S2_Q26]
1. 1 [Option ID = 15313]
2. 2 [Option ID = 15314]
3. 3 [Option ID = 15315]
4. 4 [Option ID = 15316]



27)
Dying declaration is dealt under:

1. The Special Law

2, The Indian Penal Cade

3, The Code of Criminal Procedure
4, The Indian Evidence Act

gO@lfod & @1 g @ Siiid [1@Ts (ool ol & ?

1. T3 @

2, YRAE &3 gigdr
3.8 Ufdasar digan

4, YRAE s e

[Question ID = 3830][Question Description = 127_68_CRM_SEP22_S2_Q27]
1. 1 [Option ID = 15317]
2. 2 [Option ID = 15318]
3. 3 [Option ID = 15319]
4. 4 [Option ID = 15320]

28)
According to Section 164 of the Code of Criminal Procedure, who among the follewing is empowered to

record a confession?

1. A Probation Officer

2, A Senior Police Inspector
3. A Magistrate

4 A Jail Superintendent
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[Question ID = 3831][Question Description = 128_68_CRM_SEP22_S2_Q28]
1. 1 [Option ID = 15321]
2. 2 [Option ID = 15322]
3. 3 [Option ID = 15323]
4. 4 [Option ID = 15324]

29)
Judicial Custedy/Remand refers to;

1. The accused being held in a police station
2, The accused being held in jail

3. The accused being held at his residence
4, The accused being held at police lines
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[Question ID = 3832][Question Description = 129_68_CRM_SEP22_S52_Q29]
1. 1 [Option ID = 15325]
2. 2 [Option ID = 15326]
3. 3 [Option ID = 15327]
4. 4 [Option ID = 15328]

30)
The Juvenile Justice Model Rules, 2016, allows for aftercare to be provided to a child leaving a Child Care

Institution till the age of:

1.18
2.19
3,20
4,21
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[Question ID = 3833][Question Description = 130_68_CRM_SEP22_S2_Q30]
1. 1 [Option ID = 15329]
2. 2 [Option ID = 15330]
3. 3 [Option ID = 15331]
4. 4 [Option ID = 15332]

31)
Oral evidence must, in all cases, be:

1. Direct

2, Indirect

3. Primary

4, Secondary
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[Question ID = 3834][Question Description = 131_68_CRM_SEP22_S2_Q31]
1. 1 [Option ID = 15333]
2. 2 [Option ID = 15334]



3. 3 [Option ID = 15335]
4. 4 [Option ID = 15336]

32)
Whoever intentionally puts any person in fear of any injury to that person, or to any other, and thereby

dishonestly induces the person so put in fear to deliver to any person any property or valuable security,
or anything signed or sealed which may be converted into a valuable security, commits:

1. Theft

2, Bxtortion

3. Criminal Breach of Trust
4, Cheating
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[Question ID = 3835][Question Description = 132_68_CRM_SEP22_S2_Q32]
1. 1 [Option ID = 15337]
2. 2 [Option ID = 15338]
3. 3 [Option ID = 15339]
4. 4 [Option ID = 15340]

33)
Section 357 A of the Criminal Procedure Code deals with:

1. Restitutien

2, Victim Impact Statement

3, Victim Compensation Scheme
4, Fine
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[Question ID = 3836][Question Description = 133_68_CRM_SEP22_S2_Q33]
1. 1 [Option ID = 15341]
2. 2 [Option ID = 15342]
3. 3 [Option ID = 15343]
4. 4 [Option ID = 15344]



34)
Comparison of means of two groups are done with:

1. correlation
2, regression
3, t-test

4, chi-sguare
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[Question ID = 3837][Question Description = 134_68_CRM_SEP22_S2_Q34]
1. 1 [Option ID = 15345]
2. 2 [Option ID = 15346]
3. 3 [Option ID = 15347]
4. 4 [Option ID = 15348]

35)
The Three model theory of Victimology was propounded by:

1. Marvin Welfgang

2. Benjamin Mendelsohn
3, Stephen Schafer

4, Larry Cohen
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[Question ID = 3838][Question Description = 135_68_CRM_SEP22_S2_Q35]
1. 1 [Option ID = 15349]
2. 2 [Option ID = 15350]
3. 3 [Option ID = 15351]
4. 4 [Option ID = 15352]

36)
The 'degree of association’ is related to which of the following?

1. Regression analysis
2, Chi-sguare test

3, Path analysis

4, Correlation (Pearson)
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[Question ID = 3839][Question Description = 136_68_CRM_SEP22_S2_Q36]
1 [Option ID = 15353]
2 [Option ID = 15354]
3 [Option ID = 15355]
4 [Option ID = 15356]

A w N =

37)
‘Survey research’ is-related to:

1. Quantitative research

2, Phenemenological research
3. Qualitative research

4, Case studies
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[Question ID = 3840][Question Description = 137_68_CRM_SEP22_S2_Q37]
1. 1 [Option ID = 15357]
2. 2 [Option ID = 15358]
3. 3 [Option ID = 15359]
4. 4 [Option ID = 15360]

38)
MNarrative Ressarch is related to:

1. Quantitative research
2, Survey research

3. Experimental research
4, Qualitative research
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[Question ID = 3841][Question Description = 138_68_CRM_SEP22_S52_Q38]
1. 1 [Option ID = 15361]
2. 2 [Option ID = 15362]
3. 3 [Option ID = 15363]
4. 4 [Option ID = 15364]



39)
Find the Arithmetic mean of the following distribution:

18, 27,39, 52, 63

1.40
2.38
3,36
4. 34
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[Question ID = 3842][Question Description = 139_68_CRM_SEP22_S2_Q39]
1. 1 [Option ID = 15365]
2. 2 [Option ID = 15366]
3. 3 [Option ID = 15367]
4. 4 [Option ID = 15368]

40)
Find the Arithmetic mean of the following distribution:

30, 45, €5, 115, 210, 425, 650

1.160
2,180
3,200
4,220

FafeRad g @ ey 9y el
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[Question ID = 3843][Question Description = 140_68_CRM_SEP22_S2_Q40]
1. 1 [Option ID = 15369]
2. 2 [Option ID = 15370]
3. 3 [Option ID = 15371]
4. 4 [Option ID = 15372]



41)
Which of the following are examples of true experimental design?

A, Pre-test, Post-test, Control-Group Design

B. Post-Test, Only Contral-Group Design

C. One-shot Case stidy

D. Selomen Feur-Group Desigr

E. Static Group Comparison

Choose the correct answer from the options given below:;

1.4, B and Canly
2. A Band D only
3,C, Dand E only
4. B, Cand D only
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A. T4 - Gteror - odiem usre A - g feemgA

B, Shde G160 O4Tq Fdau ug feerga
C. % Y &Y T
D. HiehH aqd - 998 feweA

£, Bfos 99 g
T Ru e 4 € W I

1.aAA, B AR C
2, FIAA, B AR D
3, &adC, D ARE
4, FFAE, C AR D

[Question ID = 3844][Question Description = 141_68_CRM_SEP22_S2_Q41]
1. 1 [Option ID = 15373]
2. 2 [Option ID = 15374]
3. 3 [Option ID = 15375]
4. 4 [Option ID = 15376]



42)
Which among the following are measures of Central Tendency?

A. Mean

B. Median

C. Regression

D. Mode

E. Standard Deviation

Choose the correct answer from the options given below:;

1.4, B and D only
2.B, Cand D only
3,C, Dand E only
4 A Cand D only

IEEGIEC LR T e S R e 8- 23

E, 9% fadeH
I umu faead 5 € O I 9 -

1. @I A, B AR D
2, FaAE, C AR D
3, WIAC, D ARE
4, FAAA CIHRD

[Question ID = 3845][Question Description = 142_68_CRM_SEP22_S2_Q42]
1. 1 [Option ID = 15377]
2. 2 [Option ID = 15378]
3. 3 [Option ID = 15379]
4. 4 [Option ID = 15380]



43)
Which among the following is correct about Routine Activity Theory?

A, It states that crime occurs as a result of increased temptations and reduced controls,

B. It recognizes that the degree to which a person can freely chioose is constrained by a multitude of

factors and forces

C. From this perspective, setting and opportunity are the most important factors contributing to criminal

behavior

D. It explains eriminal behavior in terms of social influences including stigmatization, labelling and peer

influences.

E. From this perspective, crime is the product of the interaction between individual, situational and

environmental factors, that converge in a way that increases the likelihood that crime will occur
Choose the correct answer from the options given below;

1.4, C, DandE only
2.4 B Cand Eonly
3.A B CandDonly
4.A0 B CDandE

POl Rel s R e disnuieu W@ §

A, T8 3fd oo § % 96 g oy R e g¢ Fgaer &7 oRems i i o

B. TE 3U HGRI B 1G] &l § forud] BIs oHiad Wod €4 4 957 B2 UHdl & ol SgUEa® DRE| IR
Seil gRT e Bl 8

c. 39 ufvueg § ol @ Em uufts @iaer @) 9geEd oHdld ffd Jew@yy] aRE &

D. T8 UUHIE a8 @] Sa®Hi@Ivl, tad ol aie 3K 89 9F ® TIHT dled 9Elvi@ UHE & oy d
T A6

E. 39 URUED © Ry gy, uRifea ik yofaeiy srat & 79 ER ifhal § 391G § @ 99
AR 1 3N YR BT & G WY F e &) SUET &) Sga &

i fgu e famedl @ € 98] SoR 9

1.3ad A, C DARE
2. FAAA, B, CARE
3, TIAA, B, C IR D
4ABCDIRE

[Question ID = 3846][Question Description = 143_68_CRM_SEP22_S2_Q43]
1. 1 [Option ID = 15381]
2. 2 [Option ID = 15382]
3. 3 [Option ID = 15383]
4. 4 [Option ID = 15384]



44)
Which of the following is correct about Crime in India for 2020 as compared to 20197

A, Total cognizable crimes increased in 2020 over the year 2019

B. Crime rate increased in 2020 over the year 2018

C. Total cases of kidnapping and abductior increased in 2020 over the year 2019

D. Total cases of crime against women registered during 2020 increased cver the year 2019
E. Total cases of crime against children registered durning 2020 increased over the year 2019
Choose the correct answer from the options given below:;

1.4, B and Canly
2.A and B only

3,A B Cand Donly
4ABCDandE

¥ 2019 BT qaT & @Y 2020 § YRA H WY & oy FEfaa f e g fie 9e1 7

A Y2019 B goTH a8 2020 B PO S8 W 5 afG 85 8

8.9 2019 F gerT & ad 2020 F HY T H & 83 &

C. 992019 F ge-TH a8 2020 ¥ s d SE S oA I S GBS &

D. @4 2019 H o1 4 94 2020 & SR o Hieeisfl & 6 AMER & $o 990 H i 85 6
E. a9 2019 B ga- # @ 2020 & 9= & (305 SY & ©F oo 9H01 4 9iG 63 6

74 fou 7T¢ faded] 3 § 98 I g ;

1.@aAA, B ARC
2, Faa A ARB

3, HIAA, B, C IR D
47 B CDIRE

[Question ID = 3847][Question Description = 144_68_CRM_SEP22_S2_Q44]
1. 1 [Option ID = 15385]
2. 2 [Option ID = 15386]
3. 3 [Option ID = 15387]
4. 4 [Option ID = 15388]



45)

8

Which among the following is correct about the provisions of arrest as per Cr.P.C.7

A. Any police officer may without an order from a magistrate and without a warrant, arrest any persen,
who commits in his presence, a cognizable offence

B. When any offence is committed in the presence of a magistrate within his local jurisdiction, he may
himself arrest or order any person to arrest the offender

C. The person arrested shall not be subjected to more restraint than is necessary to prevent his escape

D. It shall be the duty of the person having custody of an accused to take reasonable care of the health
and safety of the accused

E. Every police officer while making an arrest shall bear an acturate, visible and clear identification of his

name
Choose the correct answer from the options given below;

1.A, B C DandE
2,4 B Cand Donly
3.A Band Conly

4, A and B enly

v el & SER T & Suey & 990 & Feffea 8 @ o o aee 9el 8 7

A TTs g e T el wofd, o Sue! Sofufa & 99 oy B 8l S R ¥ oy &
891 9 aRe & &1 TR & 9%dl &

8. 99 [rdll gforee @1 SUifd § 54 oUeR 83 & Hiat @15 AWY Sidl & d Afece 0T @i @y

TR & 9@ dl & 91 {041 ®f 99 FRER B @1 Aed G 9@dl §

c. Tl TRoan oofad @ #fU® Haa0 @ Hedia Tel @] Sl 9" 0 [ 34 U § UdA & (o0 AGhH

EEEEG]

D. Teee ® @3- arell oiad @1 Gasd g1 1o e | 3@ @ aF AR &l Wy 3R §RaT ®1 3fd
T

£, U@ Ufory HUSR] @1 TR &1 $1d &id 999 0 A @i 981 d eip7iier § W UgaH @1 dgl &
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1.A B C DIRE
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[Question ID = 3848][Question Description = 145_68_CRM_SEP22_S2_Q45]

1.1
2.2
3.3

[Option ID = 15389]
[Option ID = 15390]
[Option ID = 15391]

4. 4 [Option ID = 15392]



46)
Serondary evidence means and includes:

A, Certified copies given under the provisions

B. Copies made from the original by mechanical processes, which in themselves ensure the accuracy of
the copy, and copies compared with such copies

C. Copies made from or compared with the original

D. Counterparts of the documents as against the parties who did not execute them

E. Oral accounts of the contents of a document given by some person who has himself seen it
Choose the correct answer from the options given below,

1.4 B and C only
2,A B DandE only
3.A C DandE only
4ABCDandE

e 9 & SRum d giata &
A, U@ & SdFd TG T8 UHI0e 95

B, TP TEarSl GRT 4T U 5118 7T Ao ke 14 10a ®] TNEG Y- 8 4R ol @) 08 Ao
AT PR

C. 96 4 &9 15 qoHl &1 7T 964

0. 94l & faes awadal @1 ufie fomm 9al 3 g el
E. U8 SR 5N oW 71U SXIds & 3iadeg o1 Hiia® [qagul
i fau e fased| & 4 81 3w 4 -
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2. Fad A, B, DIARE
3, PIAA,C DARE
4ABCDIRE

[Question ID = 3849][Question Description = 146_68_CRM_SEP22_S2_Q46]
1. 1 [Option ID = 15393]
2. 2 [Option ID = 15394]
3. 3 [Option ID = 15395]
4. 4 [Option ID = 15396]



47)
Which of the following is covered under the 'General Exceptions’ in the Indian Penal Code?

A, Act of a person of unsound mind

B. Things done in private defense

C. Act of a child under seven years of age

D. Communication made in good faith

E. Accident in doing a lawful act

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2. A Band Conly
3,A B CDandE
4 A Band D only

HRAT &8 Wied] § WYRY U4 & Jfavid Fafiiad 3 & ofdi e ?
A, Tafere =afed &1 @1

8. f-¥of g o fovu e @rd

C. T 94 ] 31 4 31 9 Bl BF

D. Tard qol Yar Hies

E, faftigde @/ @3 & R &/ arell guedl

e fu e fowed! 9 4 W S T ;

1.@ad A, B, C R D
2, FaAA, B IARC
3.A B C DIRE
4, FaA A BIARD

[Question ID = 3850][Question Description = 147_68_CRM_SEP22_S2_Q47]
1. 1 [Option ID = 15397]
2. 2 [Option ID = 15398]
3. 3 [Option ID = 15399]
4. 4 [Option ID = 15400]



48)
Which of the following is covered under the 'Offences ‘Against Property’ in the Indian Penal Code?

A. Forgery

B. Criminal Intimidation

C. Criminal Breach of Trust

D. Mischief

E. Criminal Trespass

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B Dand E only
3,B, Cand D only
4 C,Dand Eonly

Fafeiad J § &4 HRdig €8 Hiea & Uit @ [ Y & Sdid e ?
A, YS!

B, SMRIYS A

C. RIS =g 41

D. |l B BIi 9gaH1

E, RIS 3R

74 fou 7T¢ faded] 3 § 98 I g ;

1.@ad A, B, C 3R D
2, FaAA, B, DIARE
3, HIAE, C AR D
4,FaAC, D ARE

[Question ID = 3851][Question Description = 148_68_CRM_SEP22_S2_Q48]
1. 1 [Option ID = 15401]
2. 2 [Option ID = 15402]
3. 3 [Option ID = 15403]
4. 4 [Option ID = 15404]



49)
Which of the following are related to situational crime prevention?

A. Remove targets

B. Increase prosecution

C. Control togls/weapons

D. Neutralize peer pressure

E. Conceal targets

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.8, C, DandE only
3,A,C, DandE only
4 A B DandE only

Frafoiad o ohiRs s ey | ol - g 9diua & 2
A, Tl @1 ge

B. i @ sgr

C. 3UHION / BIYgRI O¥ FEa00

D. 59 3% B4E & Galg ol [1%pd @Al

£, &l &1 T
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1.@ad A, B, C 3R D
2, ad B, ¢, D IARE
3, HIAA,C, DARE
4 FAAA, B, DIARE

[Question ID = 3852][Question Description = 149_68_CRM_SEP22_S2_Q49]
1. 1 [Option ID = 15405]
2. 2 [Option ID = 15406]
3. 3 [Option ID = 15407]
4. 4 [Option ID = 15408]



50)
Which of the following are bivariate analysis in statistics

A, Chi square

B. Mean

C. Correlation

D. Sequential Equation Modelling
E. Rank correlation

Choose the correct answer from the options given below:;

1.4, B and Canly
2 A CandEonly
3,C, Dand E only
4. B, Cand D only

Fafaied H w1 wifers! & [ A e 2
A, BT W

B, HIH

C. HeHaY

D. ¥hiH® YHE0 Hisa

E. %4 ge4dy

74 fou 7T¢ faded] 3 § 98 I g ;
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2, FaA A, CHRE
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[Question ID = 3853][Question Description = 150_68_CRM_SEP22_S2_Q50]
1. 1 [Option ID = 15409]
2. 2 [Option ID = 15410]
3. 3 [Option ID = 15411]
4. 4 [Option ID = 15412]



51)
Which among the following are related to writs in India?

A. Prohibition

B. Probation

C, Art. 32

D. Retribution

E Art. 226

Choose the correct answer from the options given below:;

1.4, Cand E only
2.B, Cand D only
3,C, Dand E only
4 A Band Conly

Fefafed d e e/ s dsfya g 7
A, Y

B, OiRdI&N

C. HT=5% 32

D. Widwa / BideR

E. 3=9G 226
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[Question ID = 3854][Question Description = 151_68_CRM_SEP22_S2_Q51]
1. 1 [Option ID = 15413]
2. 2 [Option ID = 15414]
3. 3 [Option ID = 15415]
4. 4 [Option ID = 15416]



) Which among the following are true as per Protection of Children from Sexual Offences Act, 2012
(POCSQO Act)?
A, Person in charge of institution needs to report abuse or else will be punishable
B, It is a gender-neutral law
C. There is a time limit for reporting abuse
D. Not reporting abuse is a crime
E. Permiis disclosure of victim's identity

Choose the correct answer from the options given below,

1.8, Cand D only
2,A Band Donly
3.C, Dand E only
4 A only

Frafafad & 417 godasrt § oa 9vem Sififam 2012 (POCSO ACT) & HTER TEI & 7
A, T TURI 311 SHdeR @] RUle S HIG9GE 6, S041 a8 Go-1d JF «aT
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4, FaAA

[Question ID = 3855][Question Description = 152_68_CRM_SEP22_S2_Q52]
1. 1 [Option ID = 15417]
2. 2 [Option ID = 15418]
3. 3 [Option ID = 15419]
4. 4 [Option ID = 15420]



53)
Which among the following are associated with Fundamental Rights?

A, Abolition of titles

B. Articles 12-35

C. Right to property

D. Part lll

E. Prohibition of discrimination

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,A B CDandE
4 A B DandE only

Fafaied § w difae sfyer 9 96iiq s 2
A, SUITR @1 35e

B, 3Je5G 12 -35

C. YO 31 ifiepR

D. HIT Il

£, HEHIE 31 499

7 74U T fadbed] 5 & Wel S7R 4 ;

1.aAA, B AR C
2, %dAC, D IRE
3.A B C D3IRE
4 FIAA B DARE

[Question ID = 3856][Question Description = 153_68_CRM_SEP22_S2_Q53]
1. 1 [Option ID = 15421]
2. 2 [Option ID = 15422]
3. 3 [Option ID = 15423]
4. 4 [Option ID = 15424]



54)
Which among the following is NOT a Fundamental Right?

A, Right to Freedom

B. Right to Eguality

C. Right to Religion

D. Right to Titles:

E. Right to Property

Choose the correct answer from the options given below:;

1.4, B and Canly
2.B, Cand D only
3,C, Dand E only
4 A DandEanly

Fefofer f e g sfYeR g 8 7
A, EoAa] @ SR

B, FHM &1 SHfEPR

C. Y 1 HUBR

D. Y &7 SYPR

E. YOt 71 SfYPR
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2, FaAE, C AR D
3, &adC, D ARE
4, FIAADHARE

[Question ID = 3857][Question Description = 154_68_CRM_SEP22_S2_Q54]
1. 1 [Option ID = 15425]
2. 2 [Option ID = 15426]
3. 3 [Option ID = 15427]
4. 4 [Option ID = 15428]



55)
Which among the following are true as far as Translational Criminelogy is considered?

A, It breaks dewn barrier between basic and applied research

B. Contributes 1o effective policy

C. Provides interface between research and practice

D. Address gap between scientificdiscovery and programme delivery
E. Interface betweer research and policy

Choose the correct answer from the options given below:;

1.4, Cand Eonly
2.A, C DandE only
3,A, Cand Donly
4ABCDandE

Fafafed & eiaeeme SRR & TaY & & 9 JE 9 8 7
A. U8 5 3R S0 WY & ajd a0y $] FHIG ol o

B. WHIGHR] - il H drTeH
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[Question ID = 3858][Question Description = 155_68_CRM_SEP22_S2_Q55]
1. 1 [Option ID = 15429]
2. 2 [Option ID = 15430]
3. 3 [Option ID = 15431]
4. 4 [Option ID = 15432]



56)
Which of the following technigues are used in qualitative research?

A, Narratives

B. Case studies

C. Seguential equation modelling

D. Participant observation

E. Descriptive account of a practice

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,B, Cand D only
4 A B DandE only

Fafaied H quree 2y fafigl J @ - 9 do-ie Jar @)\l 6 2
A, [aRuTEHS

B. Y HHT

C. HHHH® GHIE Hlsa
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3, HIAE, C AR D
4 FAAA B, DIARE

[Question ID = 3859][Question Description = 156_68_CRM_SEP22_S2_Q56]
1. 1 [Option ID = 15433]
2. 2 [Option ID = 15434]
3. 3 [Option ID = 15435]
4. 4 [Option ID = 15436]



57)
Which among the following are Qualitative Research Methods?

A. Narrative

B. Ethnography

C. Statistic

D. Grounded Theory

E. Phenomenology

Choose the correct answer from the options given below:;

1.4, B, D and E only
2.8, C, DandE only
3,A B Cand Donly
4. B, Cand D only

Fafrad H qunere Ty fafiel @ | 2
A, [auTES

B, Jog vl

C. giasg

D. HTefees fgfd

E, UIRHeHT e / e b fagm
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2. %9dE, C, DARE
3, &aAA, B, C 3R D
4, FFAE, C AR D

[Question ID = 3860][Question Description = 157_68_CRM_SEP22_S2_Q57]
1. 1 [Option ID = 15437]
2. 2 [Option ID = 15438]
3. 3 [Option ID = 15439]
4. 4 [Option ID = 15440]



58)
Which among the following are the characteristics of Quantitative Research Methods?

A, Standardized Research Instruments

B. Phencmenology

C. Assume normal population distribution

D. Grounded theory

E. Use repeatable method

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,B, Cand D only
4 A CandEonly

Fafafed & geree Oy vial @ P @ e 7
A, FHDIH 91 GBI

B. TRYERIRA / W&l fopdl faar

C. HT SIS faaqe0 oi@ e

D. ST fHgid
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3, HIAE, C AR D
4, FAAA CARE

[Question ID = 3861][Question Description = 158_68_CRM_SEP22_S2_Q58]
1. 1 [Option ID = 15441]
2. 2 [Option ID = 15442]
3. 3 [Option ID = 15443]
4. 4 [Option ID = 15444]



59)
Which among the following count as victim suppori?

A, PTSD Counseling

B. Parcle

C. Hotline 1038

D. Probation

E Helpline 181

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,B, Cand D only
4 A CandEonly

FEtErd s dfsdeo s Eud g e &2 2
A, PTSD THHY
B. IR

C. Bleaig 1098

D. il

E, gedeiis 181
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2,®aAC, D ARE
3, HIAE, C AR D
4, FAAA CARE

[Question ID = 3862][Question Description = 159_68_CRM_SEP22_S2_Q59]
1. 1 [Option ID = 15445]
2. 2 [Option ID = 15446]
3. 3 [Option ID = 15447]
4. 4 [Option ID = 15448]



60)
Which among the following are elements of criminal liability?

A, Criminal Act

B. Askfor award of damages

C. Causation

D. Concurrence

E, Criminal intent

Choose the correct answer from the options given below:;

1.4, B and Canly
2.B, Cand D only
3,B, D and E only
4 A C DandE only

EE (G R o I |2 s o s 1
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8, &ffogfd Fofm 3T ol
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3, %A B, D3NE
4 FIAAC DARE

[Question ID = 3863][Question Description = 160_68_CRM_SEP22_S2_Q60]
1. 1 [Option ID = 15449]
2. 2 [Option ID = 15450]
3. 3 [Option ID = 15451]
4. 4 [Option ID = 15452]



61)
Which among the following are rights of victims?

A, Right to notification

B. Right to be present

C. Right to be heard

D. Right to release

E. Right to restitution

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.8, C, DandE only
3,A B Cand Eonly
4. B, Cand D only

FafarEd # difsdl & sfeR &8 7
A, g @ AUER

B, JURYT g1 &1 ¥R

C. GFaTE @l AHDR

D. e B PR

E. UGUY &1 SR
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[Question ID = 3864][Question Description = 161_68_CRM_SEP22_S2_Q61]
1. 1 [Option ID = 15453]
2. 2 [Option ID = 15454]
3. 3 [Option ID = 15455]
4. 4 [Option ID = 15456]



62)
Which among the following are environmental crimes?

A, Generate pollution

B. lllegal legging

C. Generating plantation

D. Excessive mining

E, Harm wildlife

Choose the correct answer from the options given below:;

1.4, B and Canly
2.A B Dand E only
3,B, C, D and E only
4. B, Cand D only

fFrafeiad # o gaietiy SR E 2
A, UGHY 95T @Al

B. 3{d% 94 BIeAl

C. G&RIE

D. YD S

E. §gwid @l 49
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3. %9dE, C, DARE
4, Fad B, CARD

[Question ID = 3865][Question Description = 162_68_CRM_SEP22_S2_Q62]
1. 1 [Option ID = 15457]
2. 2 [Option ID = 15458]
3. 3 [Option ID = 15459]
4. 4 [Option ID = 15460]



63)
Which among the following are related to containment theory?

A, Low level of frustration tolerance

B. Definition for deviance

C. Rebelliousness

D. Need for gratification

E, Push-pull factors

Choose the correct answer from the options given below:;

1.4, C, DandE only
2.A B CandDonly
3,B, C, D and E only
4 A Band Conly

Fafeiad e uiiyE i § 99iud 8 2
A, R geaaiEd o FE R
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C. fagierEe
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[Question ID = 3866][Question Description = 163_68_CRM_SEP22_S2_Q63]
1. 1 [Option ID = 15461]
2. 2 [Option ID = 15462]
3. 3 [Option ID = 15463]
4. 4 [Option ID = 15464]



64)
Which among the following are associated with Juvenile Justice?

A, Special Homes

B. Riyadh Guidelines

C. Nelson Mandela Rules

D. Shelter Homes

E, Beijing Rules

Choose the correct answer from the options given below:;

1.4, B and Canly
2.B, Cand D only
3,A B Cand Donly
4 A B DandE only

Fafied § & feuUR UM ¥ 9e6ed 8 7
GRS

B. g feanew

C. o8 Heal [gH

D. ¥1%4 T8

E, sifeiT 198
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3, HIAA, B, C IR D
4 FAAA B, DIARE

[Question ID = 3867][Question Description = 164_68_CRM_SEP22_S2_Q64]
1. 1 [Option ID = 15465]
2. 2 [Option ID = 15466]
3. 3 [Option ID = 15467]
4. 4 [Option ID = 15468]



65)
Which among the following are NOT environmental crimes?

A, Tax evasion

B. lllegal legging

C. Cyber erimes

D. Substance abuse

E. Water pollution

Choose the correct answer from the options given below:;

1.4, Cand E only
2.B, Cand D only
3,A, Cand Donly
4 C,Dand Eonly

frafaied & waiawiiy s e &1 8 7
A, B ST

B. 3{dY g4 Bels

C. UEET HRY

D. JG® a1y GeuanT

E, STe1 Tgaul

i fou e fased| 5 4 8 W 9 ;

1.@aa A CHRE
2, FaAE, C AR D
3, HIAA, CIHRD
4, FaAC, D ARE

[Question ID = 3868][Question Description = 165_68_CRM_SEP22_S2_Q65]
1. 1 [Option ID = 15469]
2. 2 [Option ID = 15470]
3. 3 [Option ID = 15471]
4. 4 [Option ID = 15472]



66)
Which among the following are related to impact of victimization?

A, PTSD-Post Traumatic Stress Disorder

B. Stigmatization

C. Resilience

D. ASD-Acute Stress Disorder

E Anger

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,B, Cand D only
4 A B DandE only

FgiaRad § o Gddie & yHiE © 4eidd 8 2
A, PTSD - TR] - SHTHETTS4 TA19

B. & Fafgd

C. ufeRy

D. ASD - ¥ffq G a/N

E. @Y

74 TG U faed] 5 § 98l 3R 9 ;

1.@aAA, B ARC
2,®aAC, D ARE
3, HIAE, C AR D
4 FAAA B, DIARE

[Question ID = 3869][Question Description = 166_68_CRM_SEP22_S2_Q66]
1. 1 [Option ID = 15473]
2. 2 [Option ID = 15474]
3. 3 [Option ID = 15475]
4. 4 [Option ID = 15476]



67)
Which of the following are related to Crime Prevention Through Environmental Design (CPTED)7?

A, Access control

B. Target hardening

C. Absence of capable guardian

D. Territorial reinforcemient

E. Surveillance

Choose the correct answer from the options given below:;

1.4, B, D and E only
2.8, C, DandE only
3,A B Cand Donly
4. B, Cand D only

Fafafad H yaiewo fE=ig" & §R1 SRy SYH (CPTED) § Ye9H 2
A, T gz

B. &4 B! GIH &1

C. H&H sifHya® @i sfgiRufa

D. &A1Y HeeH

E, P

i fgu e faded! 5 & 98] 9w 9 ;

1. 990 A, B, D AR E
2, Had B, ¢, D IARE
3, HIAA, B, C IR D
4, Fa B, CARD

[Question ID = 3870][Question Description = 167_68_CRM_SEP22_S2_Q67]
1. 1 [Option ID = 15477]
2. 2 [Option ID = 15478]
3. 3 [Option ID = 15479]
4. 4 [Option ID = 15480]



68)
Which among the following are related to territorial reinforcement under CPTED (Crime Prevention
Through Environmental Design)?

A, Speed Bumps-

B. Alarms

C. Fences

D. Window locks:

E. Traffic signs

Choose the correct answer from the options given below,

1.A enly

2,4 and B enly

3.A B Cand Donly
47 B CDandE

o o gaiaeiy fous aR1 Ry Jeyw (@ Ui 81 S S/ cpTeD) & AT ia g GeeH @ 8 7
A TRRTYS

B, HaH

C, @IS9al

D. TG rasiedl

E, TTATaTd "o

Fe fgu T Aol B W S O ;

1.FaTA

2, FIAAANB

3, @A A, B, C 3R D
4ABCDINE

[Question ID = 3871][Question Description = 168_68_CRM_SEP22_S2_Q68]
1. 1 [Option ID = 15481]
2. 2 [Option ID = 15482]
3. 3 [Option ID = 15483]
4. 4 [Option ID = 15484]



69)
According to Cohen and Felsen, the characteristics of a suitable target are:

A, lnertia

B. Visibility

C. Alarm

D. Value

E Access

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B Dand E only
3,B, C, D and E only
4, Conly

Bie- AR Bere & TR D0 o6l @ [GLEal & ;
A, AR

B. T34

C. 3

D. 5

E.Ogd

Je feu T e F A W I

1.@ad A, B, C 3R D
2, FaAA, B, DIARE
3. %9dE, C, DARE
4, FaEC

[Question ID = 3872][Question Description = 169_68_CRM_SEP22_S2_Q69]
1. 1 [Option ID = 15485]
2. 2 [Option ID = 15486]
3. 3 [Option ID = 15487]
4. 4 [Option ID = 15488]



70)
Which among the following relate to the Prisons-Act, 18947

A, Accommuodation and sanitary conditions

B. Provision relating tomental and physical state of prisoners
C. Court can grant free pardon to a prisoner

D. Examination by gualified medical officer

E. Classification of prisoners

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,A, B DandE only
4 B, C DandE only

Fafciad 3 o1F eRPR e 1504 § HdfUa @ 7
A, METH 3R Wwsdl 3 Ui

B. ®igl @] HG® SR ANINS [l § Hefid uray=
C. graTerd S @i Hjod @ 147 &1 Uar Y Hadl 6
D. T fafdhe AYBRI gR1 ORi&m

E. STeal ®1 i

e fu e fowed! 9 4 W S T ;

1.@aAA, B ARC
2,®aAC, D ARE
3. 990 A, B, DR E
4, 9B, C, DIRE

[Question ID = 3873][Question Description = 170_68_CRM_SEP22_S2_Q70]
1. 1 [Option ID = 15489]
2. 2 [Option ID = 15490]
3. 3 [Option ID = 15491]
4. 4 [Option ID = 15492]



71)
Which of the following Supreme Court cases are related to prisons/priseners?

A, Sunil Batra vs Delhi Administration

B. Hussainara Khatoon vs State of Bihar

C. Keshavananda Bharati vs State of Kerala

D. Prem Shankar Shukla vs Delhi Administration

E. Hiralal Mallick vs State of Bihar

Choose the correct answer from the options given below:;

1.4, B and Canly
2.C,Dand Eonly
3,A B Cand Donly
4 B, C DandE only

Fafafed & S=a9 Tey & ®H 9 9190 SRR/ Sieh § Seitd & ?
A, a4 €419 feem! Tmeg

B. B4 NI Wi § [9eR ol

C. BEMe HRdl §914 e T
D. UH I o 41 [ JaeH
E, B} €71et Hicid &1 f98 R T9d
el Tou e fased] 5 § 81 99 9 ;

1.@aAA, B ARC
2,®aAC, D ARE
3.9 A, B, DR C
4, 9B, C, DIRE

[Question ID = 3874][Question Description = 171_68_CRM_SEP22_S2_Q71]
1. 1 [Option ID = 15493]
2. 2 [Option ID = 15494]
3. 3 [Option ID = 15495]
4. 4 [Option ID = 15496]



72)
Match List | with List Il

List | List Il

4. Deterrence |l Therapy to regain

B. Genocide II. To refrain

€. Society lIl. Destruction of ethnic/racial group

D. Rehabilitation|IV. Group of individuals with special and social territory

Choose the correct answer from the options given below:

TLA-IV,B-U,C-I,D-|
ZA-LB-I,C-,D-1V
3LA-IB-LC-ILD-IV
4A-1LB-ILC-1IV,D-|

i - ] Il -1l 4 gHied Bifo ;

EE T -1l

A OfclE |1 g U b T fafereii SUaR
BUHEER ||l GBIl / Upd @Al

C. TH (11, TS TgE! &
DA |Iv. TafE ok gmifeie &9 @ widadl & 998
4 fBu e fowed! H § 9gl 3w g

LA-IV,B-UL,C-IlLD-I
2ZA-LB-1I,C-M,D-V
LA-ILB-LE-ILD-IV
4A-ILBE-IL,C-IV,D-|

[Question ID = 3875][Question Description = 172_68_CRM_SEP22_S2_Q72]
1. 1 [Option ID = 15497]
2. 2 [Option ID = 15498]
3. 3 [Option ID = 15499]
4. 4 [Option ID = 15500]

73)
Match List | with List 11

List 1 List Il

A. Common law |l Great charter of freedoms

B. Due process (Il Judicial precedent

. Magng Carta ||ll. Prosecutor's concession to a defendant.

D. Plea bargain |(IV. Legal requirement that state has to follow

Choose the correct answer from the options given below:

TLA-IV,B-Il,C-1,D-1ll
ZA-IV,B-WIL,C-1l,D-|
LA-ILB-IV,E-LDB-1
4A-1B-1,C-MD-WV



Tl - I T -1 T A DI :

EE T -l

A BIEA Tl I. oAl &1 9123 aar B3l

B. 3fad ufsear I). Aihe gauy

C. TRTETR 5 i11, WieaTes! @1 effige g1 g

D. &R SEeial  (Iv. faftE st o s @1 ureE @ 8
id fGu e fased!l H ¥ 98] S gL

LA-IVB-ILC-LB-
2ZA-IV,B-II,C-Il,D-1|
LA-ILB-W,C-LD-1
4A-1LB-1ILC-LD-IV

[Question ID = 3876][Question Description = 173_68_CRM_SEP22_S2_Q73]
1. 1 [Option ID = 15501]
2. 2 [Option ID = 15502]
3. 3 [Option ID = 15503]
4. 4 [Option ID = 15504]

74)
Match List | with List 11

List 1 List 1l

A. Arithmetic Mean I. Two variables are independent

B. Continuous variable |Il. Two variables are dependent

., Association Ill. Average

D. Not associated IV, Measurement of time and distance

Choose the correct answer from the options given below:

TA-IB-IV,C-Il,D-|
ZA-1L,B-1L,C-MB-V
JLA-IB-LE-IVE-1I
4A-V,B-WI,C-1l,D-|

i -| ] ! -1l gHled B :

T - T -l

A, 3ie O HTe LR EAT

B. Fad W I &R AT

C. gead (11, S

D. SEEaUi@D IV, §HY 3R g3 &l {15
7 fGu e fawed! & 9 98 S gL

TA-UB-IV,C-Il, D-|
2ZA-1LB-1I,E-LD-W
LA-ILB-LC-ND-1
4A-IVB-II,C-Il,D-1

[Question ID = 3877][Question Description = 174_68_CRM_SEP22_S2_Q74]



1 [Option ID = 15505]
2 [Option ID = 15506]
3 [Option ID = 15507]
4 [Option ID = 15508]

AW N =

75)
Match List | with List Il

List | List |1

A. Bivariate analysis |l Percentage

B. Univariate analysis |Il. Correlation

. Chi-sguare lIl. Significant difference in means of two groups

D. t-test IV. For two categorical data sets

Choose the correct answer from the options given below:

TLA-IV,B-U,C-1l,D-|
ZA-ILB-LC-NB-
A-LB-ILE-M,D-V
4A-IWB-LC-U,D-1

! -1 I -1 H AT BT

T - Tl -l
A, &= fozgmm | ufeEE
B. Uthe] - T 9T ||| Yedey

C. 15 @I 1. B el & Hreat H eyl i
D. &1 - Tdigm I\v. &1 HUiiTe; a7ieid i s] §Hwl & fod
I v e fawed! # 9 wg S gL

LA-IV,B-UL,C-IlLD-I
ZA-ILB-LC-IN, B-N
LA-LB-IL,C-M,B-1V
4A-IVB-L,C-U, -1

[Question ID = 3878][Question Description = 175_68_CRM_SEP22_S2_Q75]
1. 1 [Option ID = 15509]
2. 2 [Option ID = 15510]
3. 3 [Option ID = 15511]
4. 4 [Option ID = 15512]



76)
Match List | with List Il

List | List I
A. Hate crimes I. Doctor's commnmission
B. White collar

. Il. Against ethnici
erime 2 B

C. Green collarlll. A unit of white-collar crime in which violence is used by offender to
crime prevent prosecution

D. Red collar crime |IV. Environment related erimes

Choose the correct answer from the options given below:

TA-ILB-1L,C-IM D=1
ZA-IV,B-LC-1L,B-
JLA-LB-1LE-N,DB-1V
4A-V,B-WI,C-1l,D-|

i -| ] ! -1l gHled B :

g - =7 -1l

A. IO SORTY ||, STEEYl & SR Gl

g.  UbgUEr 5

J— 1. GSiid & fdeg

C. B DR T Thauw uyy e 2AfigeT o Oh & e
SRy el g oo T oo o

D. T - IR - - :

P v, TOTa i ay

4 fBu e fowed! H § 9gl 3w g

LA-ILB-LE-IV, B-1
2ZA-IV,B-LC-1LB-1
3LA-LB-IL,C-,D-1W
4A-IV,B-U,C-1I,D-|

[Question ID = 3879][Question Description = 176_68_CRM_SEP22_S2_Q76]
1. 1 [Option ID = 15513]
2. 2 [Option ID = 15514]
3. 3 [Option ID = 15515]
4. 4 [Option ID = 15516]




77)
Match List | with List Il

List | List Il

A. Comorbidity |I. A shert-term memory loss due to drugs/alcehol

B. Blackout 1. Two or more ilinesses/disorders in the same person

. Binge 11, Withdrawal symptoms

D. Cold turkey |IV. Excessive drinking in a brief period

Choose the correct answer from the options given below:

TLA-LB-1L,C-IM,DB-1
ZA-LB-I,C-,D-1V
3LA-W,B-II,LC-1Il,D-|
4A-ILB-1,C-IND-1Il

Tl -1 Il -1l & Al @]

EE = -0l
1. T gars / Sedied & SR THIE W
ATRETIE e sl
p. &f0® 3EaT |1 U oufed H U@ § if¥e saial &1 eqn
Eﬁ' EIERI L P
D. IS Th] IV, HETETE & G Hfeaied @] 1 Ua] 5o

e TGu e fasedl # ¥ 95l St g

LA-LB-ILC-Iv, B-1
ZA-1LB-1ILC-NLE-IV
3LA-IV.B-IILC-1I,D-|
4A-ILB-1LC-IN,D-N

[Question ID = 3880][Question Description = 177_68_CRM_SEP22_S2_Q77]
1. 1 [Option ID = 15517]
2. 2 [Option ID = 15518]
3. 3 [Option ID = 15519]
4. 4 [Option ID = 15520]



78)
Match List | with List Il

List 1 List I

A. Agenda I. A friend of the court
B.Amicus curige Il. Things to be attached
. Addenda I1l. Things to be done

D. Audi Alteram partem |IV. Hear the other side

Choose the correct answer from the options given below;

TLA-IV,B-U,C-I,D-|
ZA-LB-I,C-,D-1V
LA-LB-NC-IV,D-1l
4A-B-LC-ILD-IV

Tl -1 Il -1 H AT @l -

T - =1 -1l

A. BTG I T @

2. g i1, ST o e Al

C. HRY 1. @7 fore fdoar oI =liee
D. 381 HleeTH UreH V. G & ] G

¥4 e e fawed! & 9 9 S AT

TA-IWV,B-W,C-1Il,D-|
2ZA-LB-1I,C-N,D-V
JA-LB-LC-NV,D-I
4A-ILB-LC-I,D-IV

[Question ID = 3881][Question Description = 178_68_CRM_SEP22_S2_Q78]
1. 1 [Option ID = 15521]
2. 2 [Option ID = 15522]
3. 3 [Option ID = 15523]
4. 4 [Option ID = 15524]

79)
Match List | with List 1l

List1 List 1l

A. |dentity theft |l Unwanted phane calls/emails

B. Crisis Respanse|Il. Wrengfully obtaining other person’s personal information

iZ. Stalking Il. Services immediately after a crime

D. Hetline IV. Telephene/instant messaging services

Choose the correct answer from the options given belaw:

TA-ILB-I,C-,D-IV
ZA-L,B-I,C-N,D-1IV
A-MB-ILE-IV,D-|
4. A-W,B-I,C-1l,D-|



i -| ] ! -1l gHled B :

g - Tl -l
A, U gUH I. Haifesd BiH / $Ha

5. ¥dz @mH|. g8 widd @ gl IR duiFe w9 ° g
EIRER] DT

. =T 111, SOY P TG I Yard HeH o
D. glear IV, TAEM / T 9o 991 UgH $E
T B el & 4w s g

LA-ILB-UC-LD-WV
ZA-1LB-1ILC-NLE-IV
3LA-ULB-ILE-IV,D-]|
4A-IVB-U,C-1l,D-|

[Question ID = 3882][Question Description = 179_68_CRM_SEP22_S52_Q79]
1. 1 [Option ID = 15525]
2. 2 [Option ID = 15526]
3. 3 [Option ID = 15527]
4. 4 [Option ID = 15528]

80)
Match List | with List 11
List| List Il
A. Parole I, A reprimand
B. Probatien |Il. Period after release
. Aftercare  |lll. In community release after determining guilty
D. Admonition |IV. A short release for a prison inmate

Choose the correct answer from the options given below:

TA-B-IV,C-1,D-1l
2ZA-W,B-I,C-I,D-1|
3A-L,B-1L,C-LB-1V
4A-1LB-1,C-1V,D-|



Tl - I T -1 T A DI :

-] = -1l
gﬁﬂﬂﬁ / L‘Iﬁ&'ﬁlﬁl.
g, qizdram . ¥eTs / 9 @ a1 ®f sty
. SRE . 51y el & a9 ween § 9iE
I Iv. fedlt @RI &1 @ fou du@ice dE /
IEGES
Fe fau e fawed & 9 98t SwgT:

LA-ILB-IV,C-LD-I
ZA-I,B-UIUL,C-1l,D-|
LA-LEB-IL,C-D-W
4A-ILEB-ILC-IV,D-|

[Question ID = 3883][Question Description = 180_68_CRM_SEP22_S2_Q80]

1. 1 [Option ID = 15529]
2. 2 [Option ID = 15530]
3. 3 [Option ID = 15531]
4. 4 [Option ID = 15532]

81)
Match List | with List 1l
List | List Il
A. Restorative Justice || Assistance to victims
B. Restitution Il..A-penal philosaphy
. Retribution lIl. Money awarded to the winning party ina civil suit
D. Damages IV. A eriminal justice model

Choose the correct answer from the options given below:

TLA-IV,B-U,C-I,D-|
2ZA-LB-IVC-U,D-1
3LA-W,B-LC-1LD-1
4A-1,B-1,C-MD-IV




Tl - I T -1 T A DI :
EE =7 -1l
A TERES A ||, OifsT @ g

B. UTRTOA 1. ¢S fawgd a2

C. uiggE /&3 111, Srar Heea & fasdl gal o Aok
D. &ifoeg afd Iv. RIS TE Hsa

d fEu T fawed # € w8l S gHT:

LA-IV,B-UL,C-IlLD-I
2ZA-LB-IV,C-UL,D-1
LA-IV.B-LC-1LE-1
4A-1B-ILC-NLE-IV

[Question ID = 3884][Question Description = 181_68_CRM_SEP22_S52_Q81]
1 [Option ID = 15533]
2 [Option ID = 15534]
3 [Option ID = 15535]
4 [Option ID = 15536]

A w N =

82) |
Arrange the following postulates of Differantial Association Theary as enunciated by Sutherland:

A Primary learning oecurs within intimate personal groups

B. The specific directions of motives/drives are from definitions of legal codes as faverable/unfavorable
C. Criminal behavior is'learmed

D. Learning includes technigues/motives and drives

E. Crime is learned by interaction

Choose the correct answer from the options given below

1.AECBD
2ABCDE
3.E0CEA
4 CEADE



HER T8 BRI Hiaulied 193 id eaddl & UNGe13] 3] BHaE DI ;

A, il ol TeE! & avid e e o gidl 8

B. Wier / IR & fafe e vefta / R uefie & wu T ffte dRar o R e
C. SATIRIE SHFER WG Sl &

D. e & g@-Te / waieH AR SS gEEy

£, STORTY TRER 35T § UraT S s

Fid feu e fawed! & 4 R Sw g -

1.ALECED
2ABCDE
3.ED,CEA
4CEADE

[Question ID = 3885][Question Description = 182_68_CRM_SEP22_S52_Q82]
1. 1 [Option ID = 15537]
2. 2 [Option ID = 15538]
3. 3 [Option ID = 15539]
4. 4 [Option ID = 15540]

83)
Sequence the following steps inthe eriminal justice system as they are conducted :

A, Cross-examination

B.FLR

C. Examination-in-chief

D. Charge sheet

E, Sentencing

Choose the correct answer from the options given below

JABCDE
L DB EA
.B,D.CAE
EDLGERA

S % 5 I L W



STURTS =74 WUITeH &1 AT IR0) & HHas diei ;
A, TieTaiEm

B, WUH gal WadaA

C. TTATE B/ 5 Tian

D. R4 G

E, TS YA ST

e fou e fawed! 7 4 W1 S T ;

A BCDE
L DB EA
B. D, CAE
EDCEA

P S N L

[Question ID = 3886][Question Description = 183_68_CRM_SEP22_S2_Q83]
1 [Option ID = 15541]
2 [Option ID = 15542]
3 [Option ID = 15543]
4 [Option ID = 15544]

A w N =

84)
Arrange the steps'in ciminclogical research, as it is being conducted:

A. Analyze data for inference

B. Construct taol

C. Pilot study

D. Formulate objectives

E. Conduct main study

Choose the correct answer from the options given below

JABCDE
LB, D EA
OB CEA
EDLGERA

S % 5 I L W



U TG Y & IR0 ] Eaed B -
A, 3HH & (oL HiEs! ol [9=eigoy

B. JUSY (€&) @Y [H100

C. WIS &g+

D. Je=g1 @1 i

E. H% ST Bl

74 TG U faed] 5 § 98l 3R 9 ;

ABCDE
.C,B,D,E A
OB CEA
ED,CBA

Ju5 LD PO -

[Question ID = 3887][Question Description = 184_68_CRM_SEP22_S2_Q84]
1. 1 [Option ID = 15545]
2. 2 [Option ID = 15546]
3. 3 [Option ID = 15547]
4. 4 [Option ID = 15548]

85)
Sequence the criminological research steps as it is done:

A, Establish reliability

B. Construct-taol

C. Conduct pilot study

D, Set objectives

E. Establish face validity

Choose the correct answer from the options given below

1L.LED,CBA
2ABCDE
3.EBDAC
4D, B ECA



3TORTY AT Y & TR0 & HHES HITeg :
A, {9y ®iud @

8. JUSNY[ (€) I F-E1

C. WIAIRTE HEgH &l

D. T&81 & FyiRa e

E. SITHIE Gyl Rt &1

74 TG U faed] 5 § 98l 3R 9 ;

1.ED,.CBA
2ABCDE
3.EB DA C
4D BECA

[Question ID = 3888][Question Description = 185_68_CRM_SEP22_S2_Q85]
1. 1 [Option ID = 15549]
2. 2 [Option ID = 15550]
3. 3 [Option ID = 15551]
4. 4 [Option ID = 15552]

86)
Given below are two statements

Statement |: The era of private revenge occurred in the early days of human social development
Statement Il: The justice was a public and commion justice
In light of the above statements, choose the most appropriate ariswer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement 1l are incorrect
3, Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement [l is correct

FY - | : OFd GHEIGS [GE $ TRIE o1 3 e uiasny &1 921 gl 4|

FUF - || : T GESHE AR F9E 410
Iuad YAl & AP 8 Fyfoiad [Hedl § ¥ 98 W

1. BYT | 3R 1 SAT S R
2. BYF 1 3R || SET T B |
3. @Y | U8l g, fdorg B 11 71994 B
4, YT | 7TE &, T BYH 1 G818

[Question ID = 3889][Question Description = 186_68_CRM_SEP22_S2_Q86]
1. 1 [Option ID = 15553]
2. 2 [Option ID = 15554]
3. 3 [Option ID = 15555]
4. 4 [Option ID = 15556]



87)

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The practice of asylum, Trenga dei (a period of temporary peace declared in the name of
God); and talio (legalised retaliation) were introduced by the Church

Reason R: These ideas somewhat ameliorated the practice of blood revengs, saving a number of
people who would have, otherwise, been killed

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct
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[Question ID = 3890][Question Description = 187_68_CRM_SEP22_S2_Q87]
1. 1 [Option ID = 15557]
2. 2 [Option ID = 15558]
3. 3 [Option ID = 15559]
4. 4 [Option ID = 15560]

88)

Given below are two statements

Statement I: Criminal law comprises of nerms of action (norma agend), the rules of what is permitted
and what is prohibited

Statement II: These norms are designed and established by the power that essentially makes this
criminal law. This power through the criminal law authorizes the representatives te enforce the rules and

tg apply punishment to those who do net obey
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect

3, Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement [l is correct
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[Question ID = 3891][Question Description = 188_68_CRM_SEP22_S2_Q88]
1. 1 [Option ID = 15561]
2. 2 [Option ID = 15562]
3. 3 [Option ID = 15563]
4. 4 [Option ID = 15564]

89)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Criminal bio-psychology emphasizes the criminal's somatic, psychological or psychosomatic

personality

Reason R: Criminal sociology attaches more imporiance to the social factors and  wviews

the eriminal persan as a member of his society
In light of the above statements, choose the most appropriate answer from the options given below

1. Boeth A and R are carrect and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3, A is correct but R is not correct

4, A is not correct but R is correct
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[Question ID = 3892][Question Description = 189_68_CRM_SEP22_S2_Q89]
1. 1 [Option ID = 15565]
2. 2 [Option ID = 15566]
3. 3 [Option ID = 15567]
4. 4 [Option ID = 15568]



90)
Given below are two statements

Statement I: Criminology in its etiological and penclogical or correctional endeavors shares the task of
exploring the crime problem with other disciplines like philosophy, sociology, psychelogy, psychiatry,
biology and statistics

Statement lI: An inter disciplinary co-cperation of knowledge is important and inevitable for criminology
to lead it to fruitful and mieaningful perspectives and accomplishments

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3, Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement [l is correct
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[Question ID = 3893][Question Description = 190_68_CRM_SEP22_S2_Q90]
1. 1 [Option ID = 15569]
2. 2 [Option ID = 15570]
3. 3 [Option ID = 15571]
4. 4 [Option ID = 15572]

Topic:- 068_PARTB_S2

) Read the passage given below and answer the question

The historical link between psychapathy and criminality rests on the psychopath's absence of
cognitive defect: Unlike psychotics, who are cut of touch with reality and can be considered legally insane,
psychopaths know the difference between right and wrong and cannot be considered under the insanity
defense.

Cognitive ability makes a person

1.insane

2. psychotic

3. psychepath

4. differentiate between right and wrong
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[Question ID = 3894][Question Description = 191_68_CRM_SEP22_S52_Q91]

1. 1 [Option ID = 15573]
2. 2 [Option ID = 15574]
3. 3 [Option ID = 15575]
4. 4 [Option ID = 15576]

2)

Read the passage given below and answer the question

The historical link between psychopathy and criminality rests on the psychopath’s -absence of
cognitive defect. Unlike psychotics, who are out of touch with reality and can be considered legally insane,
psychopaths know the difference between right and wrong and cannot be considered under the insanity

defense.

Whe can use the insanity defense, according to the paragraph?

1. Psychatics

2. Psychopaths
3. Anybady

4, Victims
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[Question ID = 3895][Question Description = 192_68_CRM_SEP22_S2_Q92]
1. 1 [Option ID = 15577]
2. 2 [Option ID = 15578]
3. 3 [Option ID = 15579]
4. 4 [Option ID = 15580]



3)

Read the passage given below and answer the question

The historical link between psychopathy and crimimality rests on the psychopath's absence of
cognitive defect. Unlike psychatics, who are cut of touch with reality and can be considered legally insans,
psychopaths know the difference between right and wrong and cannot bé considered under the insanity

defense.

From the paragraph, psychopaths have:

1. cognitive defects

2. defects

3. no cognitive defects
4. insanity
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[Question ID = 3896][Question Description = 193_68_CRM_SEP22_S2_Q93]
1. 1 [Option ID = 15581]
2. 2 [Option ID = 15582]
3. 3 [Option ID = 15583]
4. 4 [Option ID = 15584]

4)

Read the passage given below and answer the question

The historical link between psychopathy and criminality rests on the psychopath's absence of
cognitive defect. Uniike psychotics, who are cut of touch with reality and can be considered legally insane,
psychopaths know the difference between right and wrong and cannot be considersd under the insanity

defense.
From the above paragraph; cognitive ability could be inferred as:

1. being insane

2. being legally insane

3. being in defence

4. being in touch with reality
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[Question ID = 3897][Question Description = 194_68_CRM_SEP22_S2_Q94]
1. 1 [Option ID = 15585]
2. 2 [Option ID = 15586]
3. 3 [Option ID = 15587]
4. 4 [Option ID = 15588]

%) Read the passage given below and answer the question

The historical link between psychopathy and criminality rests on the psychopath’s absence of
cognitive defect. Unlike psychatics, who are cut of touch with reality and can be considered legally insans,
psychopaths know the difference between right and wrong and cannot bé considered under the insanity

defense.
This paragraph deals with:

-insanity
.legal insanity
. psychaotics

T B

. psychopaths
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[Question ID = 3898][Question Description = 195_68_CRM_SEP22_S2_Q95]
1. 1 [Option ID = 15589]
2. 2 [Option ID = 15590]
3. 3 [Option ID = 15591]
4. 4 [Option ID = 15592]

Topic:- 068_PARTC_S2



1)

Read the passage given below and answer the question

To call Cesare Lombroso, ‘the father of modem criminclogy’. seems appropriate in view of his significance
and impact. Hardly any one can deny that Lombroso, Ferri and Garofalo, "the hely three of criminclogy”
provoksd the extension of the scientific study of crime fo include the criminal's personality and his social
environment. Lombroso, the ‘enthusiastic doctor'; Ferri, the "extremist sociclogist lawyer' and Garofalo, ‘the
sober legalistic anthropologist, agreed that more emphasis should be given to the criminal person himself

and tc his treatment
Who is referred to as the 'extremist sociologist lawyer'?

1. Lombroso
2, Beccaria
3. Ferri

4 Garofale
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[Question ID = 3899][Question Description = 196_68_CRM_SEP22_S2_Q96]
1. 1 [Option ID = 15593]
2. 2 [Option ID = 15594]
3. 3 [Option ID = 15595]
4. 4 [Option ID = 15596]

2)

Read the passage given below and answer the question

To call Cesare Lombrosg, 'the father of modem criminology’, seems appropriate in view of his significance
and impact. Hardly any one can deny that Lombrose, Ferri and Garofalo, “the holy three of criminclogy”
provoked the exiension of the scientific study of crime to include the criminal's: personality and his social
environment. Lombroso, the ‘enthusiastic:doctor’; Fermi, the'extremist sociologist lawyer’ and Garofalo, ‘the
sober legalistic anthropologist’, agreed that more emphasis should be given to the criminal person himself
and to hijs treatment

Cesare Lombrose is referred to as ‘father of modern criminclegy’ because of his

1. procedure and depth

2. enquiry and investigation
3. significance and impact
4. investigation
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[Question ID = 3900][Question Description = 197_68_CRM_SEP22_S2_Q97]
1. 1 [Option ID = 15597]
2. 2 [Option ID = 15598]
3. 3 [Option ID = 15599]
4. 4 [Option ID = 15600]

3) Read the passage given below and answer the question

To call Cesare Lombroso, ‘the father of modem criminelogy’, seems appropriate in view of his significance
and impact. Hardly any one can deny that Lombrose, Ferri and Garofalo, "the holy three of criminelogy”
provoked the extension of the scientific study of crime to include the criminal's personality and his social
environment. Lombrose, the ‘enthusiastic:doctor’; Ferri, the 'extremist sociclogist lawyer and Garofalo, ‘the
sober legalistic anthropelogist', agreed that more emphasis should be given to the criminal person himself

and to his treatment
Who among the following is NOT one of the 'hely three of criminalogy'?

1. Garofalo
2. Lombroso
3. Ferri

4, Bentham
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[Question ID = 3901][Question Description = 198_68_CRM_SEP22_S52_Q98]
1. 1 [Option ID = 15601]
2. 2 [Option ID = 15602]

3. 3 [Option ID = 15603]
4. 4 [Option ID = 15604]




4)

Read the passage given below and answer the question

To call Cesare Lombroso, ‘the father of modem criminclogy’. seems appropriate in view of his significance
and impact. Hardly any one can deny that Lombroso, Ferri and Garofalo, "the hely three of criminclogy”
provoksd the extension of the scientific study of crime fo include the criminal's personality and his social
environment. Lombroso, the ‘enthusiastic doctor'; Ferri, the "extremist sociclogist lawyer' and Garofalo, ‘the
sober legalistic anthropologist, agreed that more emphasis should be given to the criminal person himself

and te his treatment
According to paragraph, the *father of modern criminology’ refers te who among the following?

1. Ferri

2. Garofalo

3. Lombroso

4. Cesare Beccaria
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[Question ID = 3902][Question Description = 199_68_CRM_SEP22_S2_Q99]
1. 1 [Option ID = 15605]
2. 2 [Option ID = 15606]
3. 3 [Option ID = 15607]
4. 4 [Option ID = 15608]

5)

Read the passage given below and answer the question

To call Cesare Lombroso, ‘the father of madern criminology’, seems appropriate in view of his significance
and impact. Hardly any one can deny that Lombrose, Ferri and Garofalo, "the holy three of criminology”
provoked the extension of the scientific:study of crime to include the criminal's personality and his sacial
environment. Lombrese, the ‘enthusiastic doctor’; Ferri, the ‘extremist socielogist lawyer” and Garofalo, 'the
sober legalistic anthrapelogist’, agreed that more emphasis should be given to the criminal persen himself
and te his treatment

Who is referred to as the ‘sober legalistic anthropologist’?

1. Lombroso
2. Ferri

3. Beccaria
4, Garofala
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[Question ID = 3903][Question Description = 200_68_CRM_SEP22_S2_Q100]
1. 1 [Option ID = 15609]
2. 2 [Option ID = 15610]
3. 3 [Option ID = 15611]
4. 4 [Option ID = 15612]

Topic:- 22 GP_29SEPT22_SH1_S2_A

1)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Vs Types OF Batteries Sold (in thousands)
4AH TAH 32AH 35AH 55AH

2015 |75 144 114 102 108
2016 90 126 102 24 126
2017 96 114 75 105 135
2018 105 a0 150 80 75
2019 90 75 135 75 80
2020 |105 &0 165 45 120
2021  |115 85 160 100 145

What was the approximate percentage increase in the sales of 55AH batteries in 2027 compared to that
in20157

1.28 %
2:31%
3.:33%
4,34 %
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2015 75 144 114 102 108
2016 a0 126 102 g4 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 105 a0 165 45 120
2021 115 85 160 100 145
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[Question ID = 4374][Question Description = 101_81_GP6_SEP22_S2_QO01]
1. 1 [Option ID = 17493]
2. 2 [Option ID = 17494]
3. 3 [Option ID = 17495]
4. 4 [Option ID = 17496]

2)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 te 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scld (in thousands)
4AH TAH 32AH 354H 55AH

2015 (75 144 114 102 108
2016 |90 126 102 a4 126
2017 D6 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 S0
2020 105 &0 165 45 120
2021 115 85 160 100 145

The total sales of all the seven years is maximum for which type of battery?

T.44AH
2. TAH
3. 32AH
4. 35AH
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A4TUUd | 7UULd | 3200 | 35U UG | 550 UH

2015 | 75 | 144 | 114 102 108
2016 | 90 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 125 75 90
2020 | 105 | 80 165 45 120
2021 | 115 | 85 160 100 145
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[Question ID = 4375][Question Description = 102_81_GP6_SEP22_S2_Q02]
1. 1 [Option ID = 17497]
2. 2 [Option ID = 17498]
3. 3 [Option ID = 17499]
4. 4 [Option ID = 17500]

3)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AH TAH 32AH 354AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 a4 126
2017 |96 114 75 105 135
2018 105 20 150 90 75
2019 |90 75 133 75 20
2020 |105 B0 165 45 120
2021 115 85 160 100 145

What is the difference in the number of 354H batteriessold in 2016 and 20207

1.24000
2..28000
3. 35000
4. 38000
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2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145
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1. 24000
2..28000
3. 35000
4. 38000

[Question ID = 4376][Question Description = 103_81_GP6_SEP22_S2_Q03]
1. 1 [Option ID = 17501]
2. 2 [Option ID = 17502]
3. 3 [Option ID = 17503]
4. 4 [Option ID = 17504]



4)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

onr Types Of Batteries Scid (in thousands)
4AAH TAH 32AH 35AH 55AH

20815 |75 144 114 102 108
2016 (80 126 102 24 126
2017 96 114 75 105 135
2018 105 80 150 a0 75
2019 |90 73 135 i3 30
2020 [105 60 165 45 120
2021|115 85 160 100 145

The percentage of 4AH batieries sold in a given year to the total number of batteries sold in that same
year was maximum in the year:

1..2007
2.2018
3.2018
4, 2020

fFafafaa aifter # 9 2015 ¥ 2021 9@ & ERE TS Al gRT fawt o 715 fAfis yor ot acial
@R H) T fawt - s fer U §1 59 aifere & Siesi & YR R Ui wall & Swx 4T

=il @t ad - ar fawl
o %1 ®1 15 92l © WO (B9R 1)
AU |70 (3200|350 0T | 5500
2015 75 144 114 102 108
2016 | 90 | 126 | 102 84 126
2017 Go 114 75 105 135
2018 | 105 | 90 150 90 75
2019 =] 75 135 P ao
2020 105 a0 165 45 120
2021 115 85 160 100 145

il feu T o & 92t o) 9wl &) oo 9 & 91y 94l 9d § T @ 7 4 U ug SR @ ufowa g
T Hfw a7 7

1,2817
2,2018
3.201¢
4, 2020

[Question ID = 4377][Question Description = 104_81_GP6_SEP22_S2_Q04]
1. 1 [Option ID = 17505]
2. 2 [Option ID = 17506]
3. 3 [Option ID = 17507]
4. 4 [Option ID = 17508]



5)
Based on the data in the table, answer the five questions that follow

The following table gives the sale figures of five different types of batteries (in thousands) sold by a
company during the years 2015 to 2021.

Year-wise Sale of Batteries

Genr Types Of Batteries Sold (in thousands)
4AH TAH 3ZAH 35AH 55AH

2015 |75 144 114 102 108
2016 (B0 126 102 24 126
2017 196 114 75 105 135
2018 |105 30 150 90 75
2019 |90 73 135 75 a0
2020 |105 60 165 45 120
2021 115 85 180 100 145

In case of which type of battery there was a continuous decrease in sales from 2015 to 20207

1.448H
2. TAH
3.32AH
4. 35AH

fFafefag arferer & ad 2015 | 2021 96 & R TP DUt g1 At @t 78 fAfud yer @t el
@9R ®) ¥ 9! - s fRu e &1 53 aiferer & sies! & MyR W = vyl & IO S

gzivyf @l 9 - ar 6 :

- ] &1 715 Scidl & UK (89K 1)
4UEd | 7UUd |3200d (350 TH | 55U LA

2015 | 75 | 144 | 114 102 108
2016 | %0 | 126 | 102 84 126
2017 | 96 | 114 75 105 135
2018 | 105 | 90 150 90 75
2019 | 90 75 135 75 90
2020 | 105 | &0 165 45 120
2021 | 115 | 85 160 100 145

a8 2015 ¥ 2020 1@ 69 UEHR B 93] D [9eb] H F¥ay FRige g4t 7

1.40Ud
2.70Td
3.320UG
4.35U00g

[Question ID = 4378][Question Description = 105_81_GP6_SEP22_S2_QO05]
1. 1 [Option ID = 17509]
2. 2 [Option ID = 17510]



3. 3 [Option ID = 17511]
4. 4 [Option ID = 17512]

Topic:- 22 GP_29SEPT22_SH1_S2_B

1)

Which scheme of Ministry of Education, Government of India, uses Artificial Intelligence to make learing
more personalised and customised, as per reguirements of the learners?

1. NEAT
2, NEET
3, SWAYAM
4 SWAYAN PRABHA

e HaTeE, YRG TIPR 3] B O dioF Tl B HEEeaIH & SgaR HWE 5] Hie dditas
S el s & & o BiH SfgH 1 Wi &l 8 7

.S LA

255

3, TEHH [SWAYAM )

4 IGUH UH] (SWAYAMPRABHA)

[Question ID = 4379][Question Description = 106_81_GP6_SEP22_S2_Q06]
1. 1 [Option ID = 17513]
2. 2 [Option ID = 17514]
3. 3 [Option ID = 17515]
4. 4 [Option ID = 17516]

2)
Upon completion of academic programmes (Graduation), what outcomes should the students have
attained?

1. Programme Education Objectives/ Programme outcomes
2. Lesson outcomes

3. Course guicomes

4, Unit/Chapter outcomes

H@IGIHS B (Wiad) & W e 0, [genieial of @7 uRemE urd giH =i ?

1. BRIHE 8T 3539 / BIUHE UNomH
2,918 giomE

3. 913 gRum

4, gy S uions

[Question ID = 4380][Question Description = 107_81_GP6_SEP22_S2_Q07]
1. 1 [Option ID = 17517]
2. 2 [Option ID = 17518]
3. 3 [Option ID = 17519]
4. 4 [Option ID = 17520]



3)
Given below are two statements, one is labelled as Assertion A and the other is labelled 35 Reason R

Assertion A: Teachers must encourage students to ask questions.
Reason R: Asking questions can create curiosity and develop passion for learning.
In light of the above statements, choose the most appropriate answer from the options given below

1. Beth A and R are correct and R is the correct explanation of A

2, Both A and R are carrect but R is NOT the correct explanation of A
3, A'is correct but R is not correct

4, A is not correct but R is correct

el @ RU g to of iy (A) IR g0 & ®RY (R) FET M@ ¢
A (a) : et =1 Al o1 v gg & o uieifed &< 9ifeul
@R (R) ; 0% OB 9 (o9 g il & SR {9 o o 3 [9e19d eidl 8
ST BYF| & TS & Hiied aeed 3 4 98 9w g ;

1. (A) 3R (R) G ¥E1 & SR (R), (A) $1 Hel SR 21

2, (A) 3R (R) T T8I & TR (R), (A) P He o0 81 6

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4381][Question Description = 108_81_GP6_SEP22_S2_Q08]
1. 1 [Option ID = 17521]
2. 2 [Option ID = 17522]
3. 3 [Option ID = 17523]
4. 4 [Option ID = 17524]

4)
Which of the following miodel is used for development of e-content for MOOCs on SWAYAM?

1. Four Quadrant
2. Two Quadrant
3, Flipped Classraom
4, Bloom's Taxonomy

TEUH (SWAYAM) OT 58 (MOOCs) & [0 S-1q9gasd & (9@ & 8 F¥ H d [od Hisa oI uai eldl 8 7

1. AR EgsE

PR

3, [T @an

4, TH ®I G fag

[Question ID = 4382][Question Description = 109_81_GP6_SEP22_S2_Q09]
1. 1 [Option ID = 17525]
2. 2 [Option ID = 17526]
3. 3 [Option ID = 17527]
4. 4 [Option ID = 17528]



5)
In erder to develop a video for MOOC, how much portion of some copyrighted video is allowed to be

used as'per the fair use guidelines?

. Upto 10% or 10 minutes, whichever is less,
. Upto 10% or 3 minutes, whichever is less,
. Upto 209 or 10 minutes, whichever is less,

Ju5 LD PO -

. Upto 30% or 3 minutes, whichever is less,

& (MOOC) & foe ®15 difsdl &9 & o, 3faa v feenfass & uR, B ufafoanfieia difsar
@ [tha (894 &1 WaR & @1 Al 8 ?

.10% T, 41 10 e, o T &9 811

10% @, 47 3 e S i ea gl

. 20% T, T1 10 e Z o Bl
4,30% o@, 77 3 e, o S ea 8l

LD M -

[Question ID = 4383][Question Description = 110_81_GP6_SEP22_S2_Q10]
1. 1 [Option ID = 17529]
2. 2 [Option ID = 17530]
3. 3 [Option ID = 17531]
4. 4 [Option ID = 17532]

6)
When the subjects of a research change or improve their behaviour, not due to changes in experimental

stimulus, it is called

1. The Hawthorne effect
2, The Glenn effect

3. The Fischer effect

4, The Kerlinger effect

wa fodl 2y @ Tqudl & asR o uitacy 91 YUR WANTES I Ue| H URGa- & R0 961 &idl &, al 34
el Sl & -

1. 51aYH TUIE
FRCE RG]

3, fheR T1e
4, HRUAGR WHId

[Question ID = 4384][Question Description = 111_81_GP6_SEP22_S2_Q11]
1. 1 [Option ID = 17533]
2. 2 [Option ID = 17534]
3. 3 [Option ID = 17535]
4. 4 [Option ID = 17536]



7)
The advantages of research based on field experiments are:

A. Astrong external validity

B. Subiecis behave normally and naturally.

C. The experiment takes place in a natural setting.

D. Generation of primary data

E. Non-requirement of elaborate logistics

Choose the correct answer from the options given below;

1.4 Band Conly
2.B, Cand D only
3,C Dand Eonly
4 A CandEonly

& TERTl OR SR DY & A E -
A, T g §1al 9yl |
8. fawm W oiR warifa® 9 9 a98R i ¢
C. T UTgia® e | Bl 8l
D. UHiH® Hiws| @l go- |
E, forga HR-0F @1 Saxgedl T8l eidl|
i fou e fawed! & @ 8 oW A -
1. a0 A, B AR C
2, &9d B, C MR D

3. HaAC, D ARE
4 Had A C3IRE

[Question ID = 4385][Question Description = 112_81_GP6_SEP22_S2_Q12]
1. 1 [Option ID = 17537]
2. 2 [Option ID = 17538]
3. 3 [Option ID = 17539]
4. 4 [Option ID = 17540]

8)
Hypothesis, that is alternative to null hypothesis, is represented as

1. Hg
2.Hy
3, Han
4 H.p



gitee, Sl Y g el o] famed o, @] GXI9 9l &

1. Hg
2.Hy
3, Han
4, Hii‘J

[Question ID = 4386][Question Description = 113_81_GP6_SEP22_S2_Q13]
1 [Option ID = 17541]
2 [Option ID = 17542]
3 [Option ID = 17543]
4 [Option ID = 17544]

A w N =

9)
What is SCOPUS?

1. Software to prepare Ph.D thesis

2, Database containing abstracts and citations of academic journals
3. Agency to fund research and development

4, Plagiarism checking software

THI9H (SCOPUS) T & 7

1, Ui 31 Ty Y TR oY 91 AlgediR

2. SEeY foed e theel $ SR W dsvied &
3, 719 3R 9o & fawume o fog i

4, Field® R $ 9 B3 ael QiFeaty

[Question ID = 4387][Question Description = 114_81_GP6_SEP22_S2_Q14]
1 [Option ID = 17545]
2 [Option ID = 17546]
3 [Option ID = 17547]
4 [Option ID = 17548]

A w N =

10)
The Social Science research which is data-based, has been associated with

. Authoritarian mode
. Positivist philosophy
. Network theory

S % 5 I L W

. Phehemenology

gg gHIee o 91y, S iesl-Yid sl g, Ruiad 48 & -

1. G OEid
2. UT&aE] 53
3, Jead g

4, Teggeq) fagm

[Question ID = 4388][Question Description = 115_81_GP6_SEP22_S2_Q15]
1 [Option ID = 17549]
2 [Option ID = 17550]
3 [Option ID = 17551]
4 [Option ID = 17552]

A w N =



11)
The modern-communication revolutien is propelled by

1. Cold war propaganda

2, International commerce

3, Technological convergence
4, Change in political systems

YD GG Hifd aHs gRI AN & 7
1. 9019 4 @1 Uigirsl
2, 3iTRIBTY Frivrsd

3, e g HEm
4, IeTcE gone | 9igas

[Question ID = 4389][Question Description = 116_81_GP6_SEP22_S2_Q16]
1 [Option ID = 17553]
2 [Option ID = 17554]
3 [Option ID = 17555]
4 [Option ID = 17556]

A w N =

12)
Effective classroom communication will enable

A, Efficient teaching

B. Interest in learming

C. Minimal assessment

D. Interaction between teachers and students

E. Teacher-centric behaviour

Choose the correct answer from the options given below;

1.4, B and Canly
2.8, C, DandE only
3,C, Dand E only
4 A Band D only



A H UHTE] TR [HEE HEH B ;
A, YT ST

8. Urg- H 3l

C. 3feqdd Hedia

D. TRrarnt <R faenivhal & di 2=g1=g f9eam
E. HLI®- Higd S9a8R

e fou e fawed! 7 4 W1 S T ;

1.FAAA, B AR C
2.9 E,C, DIARE
3,WIAC, D ARE
4,FIAA, B AR D

[Question ID = 4390][Question Description = 117_81_GP6_SEP22_S2_Q17]
1. 1 [Option ID = 17557]
2. 2 [Option ID = 17558]
3. 3 [Option ID = 17559]
4. 4 [Option ID = 17560]

13)
Which of the fallowing are barriers to understand the communicated messages?

A. Emotional guotient

B. Jargon

C. Persanal space

D. Pre-judgemient

E. Cultural background

Choose the correct answer from the options given below;

A, Band Conly
.B, D and E only
.C, D and E anly
.B, Cand D only

S % 5 I L W



FrEd H ¥ B 4 TRiha a3l o §HgH H SRIYD § 7
A, TagTere -l

B. 3IE

C. gD W

D. ga-oig

E. Wieplci gE3{H

74 T4 7 f9eped] 5 & Wel STR 4 ;

1.FAAA, B AR C
2, #GE B, DIANE
3,WaAC, D ARE
4, FFAB, C AR D

[Question ID = 4391][Question Description = 118_81_GP6_SEP22_S2_Q18]
1. 1 [Option ID = 17561]
2. 2 [Option ID = 17562]
3. 3 [Option ID = 17563]
4. 4 [Option ID = 17564]

14)
Given below are two statements

Statement I: Knowledge is a form of cultural capital for all practical purposes,
Statement II: Communication media make cultural capital a form of illimitable property.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect
3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct

e RUTEE:

Y - | §F9 o sraeTie UaieH| & O Oisia® gol &1 U 9 8l

Y - || : TN HSy, YEeiam el ] U6 WeR $1 it grdid 5 8
UL HYH| & ATID | e 9ol H ¥ Hel 3w g

1. YT | R 1 GF TRl 8l
2. BT | R | EHl e B
3. P | TR &, g @y I TEa Bl
4, Y | TTd &, fbeg YT 1| TR Bl

[Question ID = 4392][Question Description = 119_81_GP6_SEP22_S2_Q19]
1. 1 [Option ID = 17565]
2. 2 [Option ID = 17566]
3. 3 [Option ID = 17567]
4. 4 [Option ID = 17568]



15)
Match List | with List Il

List |

List I

Concept of presentation

Characteristic

A, Text

|. Order of signification

B. Discourse

Il, Subjective invention

C. Connctation

Ill. Micro data

D. Myth

IV. Macro exchange

Choose the carrect answer frem the options given below:

TA-LB-1LC= LD~V
ZA-ILB=lLC=-IV, B~
SA-ILB-MC-LD-1
4A-NB-LC-1L,B=N

! -1 I T -1 H AT BT

EE

BESRIEE g R EHIE)

A, TS I. AR@IB 0l BT B
B, st 11, STH-TE I

C. oY I1l. BIShI-SeT

D. fHy® V. S8 3MaH-HarH
A feu e faed! # ¥ W8l ST g

TA-LB-1L,E=l, D-IV
2ZA-1LBANC- IV, B=
LA-NLB=-IMC-L B=1
4A8-WEB-LC-IL D=l

[Question ID = 4393][Question Description = 120_81_GP6_SEP22_S2_Q20]

1. 1 [Option ID = 17569]
2. 2 [Option ID = 17570]
3. 3 [Option ID = 17571]
4. 4 [Option ID = 17572]




16)
Choose the set of numbers, similar to the set (31, 19, 41) out of the following:

A, (27, 29, 47)
B.[23; 34, 45)
C. (29, 16, 41)
D. (29, 17, 37)
E, (23, 37, 49)
Choose the correct answer from the options given below:;

1.4, Cand E only
2.A and B only
3,B and D only
4, D only

Fafciad vyl 4 O Wy (31,19.41) & §9H Y13 & §9=Y @) gH¢ -
A. (27, 29, 47)

B. (23, 34, 49)
C. (29, 16, 47)
D. (29, 17,37)
E. (23, 37, 49)
I fou ¢ fased & 4 W) SR g

1.Faa A CHRE
2, FaAA ANB
3, FAA B ARD
4,FFAD

[Question ID = 4394][Question Description = 121_81_GP6_SEP22_S2_Q21]
1. 1 [Option ID = 17573]
2. 2 [Option ID = 17574]
3. 3 [Option ID = 17575]
4. 4 [Option ID = 17576]



17)
Uniscramble the strings below to treate a meaningful word and then find the odd one out:

A, EIWNTR

B. UMRSME

C. PIGRSN

D. LCUQD

Choose the correct answer from the options given below:;

1. A only
2.B only
3. C only
4, D only

T f5u 710 47 @1 56 USR e fa el e 84 aul aguRid 1999 @ gé -
A EIWNTR

B. UMRSME

C, PIGRSN

0. LCUOD

e fu e fowed! 9 4 W S T ;

1. Fad A
2, FadE
3,HaA C
4, FaA D

[Question ID = 4395][Question Description = 122_81_GP6_SEP22_S2_Q22]
1. 1 [Option ID = 17577]
2. 2 [Option ID = 17578]
3. 3 [Option ID = 17579]
4. 4 [Option ID = 17580]

18)
What shall be the value when 0.07 is divided by 3507

1..0.0002
2.0.002
3.0.02

4, 0.00002

F@ 0,07 BT 250 § YT {631 S0 1 91 5 Ui 81 7

1.0.0002
2,.0.002
3.0.02

4 0.00002



[Question ID = 4396][Question Description = 123_81_GP6_SEP22_S2_Q23]
1. 1 [Option ID = 17581]
2. 2 [Option ID = 17582]
3. 3 [Option ID = 17583]
4. 4[Option ID = 17584]

19)
Six persons wernt to a hotel for a dinner, Five of them spent Rs 150 each on their meals, while the sixth

person spent Rs 80 more than the average expenditure of all the six persons. What is the total money

spent by all the six persons?

1.9%06
2,959
3.1000
4,7001

BE @ U HieH & [T glew § oid &) S99 Ui ofgadl § 9§ UG 309 Hied WX 1150 T4 5l B
Tl Sol diad 941 9 diaaal & 9 9 9 380 9 94 o3l 8| 94 98 il grl & foa
Y U Ed &1 7S 7

1.3996
2.3999
3.% 1000
4.3 1001

[Question ID = 4397][Question Description = 124_81_GP6_SEP22_S2_Q24]

1. 1 [Option ID = 17585]
2. 2 [Option ID = 17586]
3. 3 [Option ID = 17587]
4. 4 [Option ID = 17588]

20)
The selling price of 30 fans is egual to the purchase price of 25 fans. What is the profit or loss in

percentage?

1. A gain of 1,5%%
2.4 loss of 15%
3. A loss of 152%

4. No gain, no loss

30 Ul 1 faeh] Hed 25 UGl o W16 Hed o &X0ak o | i Sl gl wiowe o fsa-l & 2

1. 162%31'3—[

2.15% % &
2

3. 163% gl

4,98, Y

[Question ID = 4398][Question Description = 125_81_GP6_SEP22_S2_Q25]
1. 1 [Option ID = 17589]
2. 2 [Option ID = 17590]
3. 3 [Option ID = 17591]
4. 4 [Option ID = 17592]



20 In Classical Square of Opposition, if 'Some S is P’ is given as true then which of the following could be
immediately inferred from it?
A, 'Some S is not P’ is false
B. 'Some S is not P is:true
C.'No Sis P'is false
D. “All SisP' is'undetermined
E. 'Some S is not P'is undetermined

Choose the correct answer from the options given below,

1.4 Cand D only
2,C, Dand E only
3.B, Cand D only
4 B and Conly

R & g a T S T8 S, P el &, ® dfe Te) aF T el Ol 9 H ¥ fEae! uas w9 1 gEd
g s gwa g ?

A BES PR e, Tad 8

B. WSS Pel 6, 9H &

C.®Ig S, PRI &, TTod &

D. s, P, feifa s

E B S, PAEl 8, UG 8

i g e faded! 5 & 981 9ok 4 -

1.®adA, CHRD
2. &40 C, D ARE
3, TIAE, C AR D
4 FIAR ARC

[Question ID = 4399][Question Description = 126_81_GP6_SEP22_S2_Q26]
1. 1 [Option ID = 17593]
2. 2 [Option ID = 17594]
3. 3 [Option ID = 17595]
4. 4 [Option ID = 17596]



22)
A fallacy in which the conelusion is stated or assumed within ene of the premises is known severally as:

A, Petitio Principil

B. Irrelevant Conclusion

C. Begging the Question

D. Fallacy of Compeosition

E, Circular argument

Choose the correct answer from the options given below:;

1.4, D and E anly
2.Cand Donly

3,B, Cand Eonly
4 A CandEonly

@3 av oy (ool (5aY @] U YR 999 & ¥4 & Adifq @iied oa) 7 & ud 9F 741 8 39
faftrs vl © F g I &

A, fafeRRm i

B, HUTHT® ey
C. AT TN

D. T B G6-21
E, gd G

1.3aAA, D IARE
2, HFAC IRD

3, &ad B, CARE
4, FAA CHRE

[Question ID = 4400][Question Description = 127_81_GP6_SEP22_S2_Q27]
1. 1 [Option ID = 17597]
2. 2 [Option ID = 17598]
3. 3 [Option ID = 17599]
4. 4 [Option ID = 17600]

23)
Analogical Arguments are:

1. Deductive in nature

2, Inductive in nature

3. Valid arguments but fallacious
4 Invalid arguments



TS O §

1. FTHEE 9dia Tl
2. FTHS Ui o0t
3. 3% g TI9gad ad
4, 39y db

[Question ID = 4401][Question Description = 128_81_GP6_SEP22_S2_Q28]
1. 1 [Option ID = 17601]
2. 2 [Option ID = 17602]
3. 3 [Option ID = 17603]
4. 4 [Option ID = 17604]

24)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Classical Indian School of Logic (Nyaya), it is desirable but net necessary to
offer an example in a syllegistic argument or inference.

Reason R: Example shows that there is at least one existent object or case in the world in which the
middle and major terms co-exist.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2, Bath A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Fac oY U T UF & 3ifHYH (4) IR T &1 7@ (R) T T &

HYHY (A) : ARG HRA 1 Hd @ YR [BEl A41g Giag SUdl S9HH @1 3aed 6] dig-1d &,
IELEECIUEC]

@RU (R) ; 3G6Y U SNl ¢ (@ ®H 4 ®9 U9 diamdd a5 41 gaie s Ji9g & o 7a ug
3N 7E g Te-faemE B

Sudad ByEl & e § FRifed fAed # 4 @l awm g

1. (A) AR (R) T WE1 & 3R (R), (A) B el odEA o

2. (A) 3R (R) QT eI & TR (R), (A) I We! oIRe 78 &
3, (A) WBI € TR (R) WET 981 &

4, (A) W6l 981 & IR (R) WRI 81

[Question ID = 4402][Question Description = 129_81_GP6_SEP22_S2_Q29]
1. 1 [Option ID = 17605]
2. 2 [Option ID = 17606]
3. 3 [Option ID = 17607]
4. 4 [Option ID = 17608]



25)

An American is told by his friend that Asian buffalo is like bison in such and such respects. When the
American visits Asia and comes across a buffalo, he comes 1o know that the animal seen by him is buffale.

Which of the following means of knewledge (pramana) is used in this instance?

1. Postulation (Arthapatti)
2, Comparison (Upamana)
3. Perception (Pratyaksa)

4, Verbal Testimany (Sabda)

UE P B 39m 194 g ad] 7] [ Ue CRIEE 99 39 3% 37 95Ul § 91594 (BISON) &) o8 gl
21 99 39 JEfT 3§ U @ uE @1 SR 96 99 & 9RE 1 o 99 4 Ual 9al ik 9 forg wii @1
%), g Hg t| Fefoiag 3 € 59 3 91 (0E) B 550910 996 a1 39 994 fhar T ?

1. Jufgel
2. 394
3, Uegdf
4, ety

[Question ID = 4403][Question Description = 130_81_GP6_SEP22_S2_Q30]
1. 1 [Option ID = 17609]
2. 2 [Option ID = 17610]
3. 3 [Option ID = 17611]
4. 4 [Option ID = 17612]

26)
Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Static RAM is typically used for PC's main memaory while Dynamic RAM is used for CPU

cache.
Reason R: Static RAM is faster and more expensive than Dynamic:RAM.
In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the carrect explanation of A
3, A'is true but R is false

4, Ais false but R is true

i al @yH [GUTE 8 : U @ <@y (A) 3R G- @I DRI (R) Hel I gl

AP (4) ; ®ies 1 & fafte w9 € 9 6 & &1 37 899 & fou fem o @ wefe st
pa=ie: |1 Q20 G AR st D B BT A

TRO (R) : LD I "SEANE 0 B goml J P oo R Teri il g1
e DY P AP d FEfed faeed H U TE SR 9

1.(A) 3R (R) BT 9 & 3R (R), (A) T TR RBT 1

2. (A) 3R (R) ST G € 93 (R), (A) B el 010 T 6
3, (A) T & O3 (R) S0 &

4. (A) 5T 8 U (R) A B

[Question ID = 4404][Question Description = 131_81_GP6_SEP22_S2_Q31]



1 [Option ID = 17613]
2 [Option ID = 17614]
3 [Option ID = 17615]
4 [Option ID = 17616]

A W N =

27)
With respect to the Computers, what is the purpose of compressing a data file?

1. To encrypt the data

2. Ta occupy lessstorage space

3, To increase transmission time over a network

4, To allow the file to be read by a variety of applications

T & UG H U SIe1 I3l @] HEIY @3- o] 7 3530 51 § 7
1. STeT @I URPE & & e
LFIRRE U G
3, U9 -ica® OL 2IgHIgH eag § 9 @ & fo
4, T% 15T @] 114 SIWENT G U6 5 & (08 AT ol

[Question ID = 4405][Question Description = 132_81_GP6_SEP22_S2_Q32]
1. 1 [Option ID = 17617]
2. 2 [Option ID = 17618]
3. 3 [Option ID = 17619]
4. 4 [Option ID = 17620]

28)
Which of the following peripheral devices are considered as only input devices?

A, Microphane

B. Projector

C. loy Stick

D. Scanner

E, Track-ball

Choose the correct answer from the options given below;

1.4, C DandE only
2 A B DandE only
3,B,C, Dand E only
4 A B CandDonly



FTeTE TR [SaEds H € 6% oan 399¢ [Sasey JH ol 6 7
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B. HISieey

C.9ig e

D. &P

£ emam
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1.®aAA, C, DARE
2. 999 A, B, DARE
3,%aAE, C,DARE
4, FIAA, B, C IR D

[Question ID = 4406][Question Description = 133_81_GP6_SEP22_S2_Q33]
1. 1 [Option ID = 17621]
2. 2 [Option ID = 17622]
3. 3 [Option ID = 17623]
4. 4 [Option ID = 17624]

29)
A Company's word-processed daily repert contains a graph from a spreadsheet. The report needs to

display the maost recent information from the spreadsheet, What feature should be used to insert the
most up-to-date graph?

1. Copy and paste

2, Mail merge wizard

3. Automated importing
4 Linking and embedding

forell Hot @] gs-U1a%s Shh® FUid § Ssdiie & Ue 715 e el | RO H dissie § ofgad @3
@ 16T ST HIG%E® gid] 8| 3RIG- WP @] JAdiaP B & (U (oG 1[0 (WBTaw) B SULRT (a1 w1 dliet

1. B AR U
2. 5O fdws
4, faifep oim wafem

[Question ID = 4407][Question Description = 134_81_GP6_SEP22_S2_Q34]
1. 1 [Option ID = 17625]
2. 2 [Option ID = 17626]
3. 3 [Option ID = 17627]
4. 4 [Option ID = 17628]



30)
Which type of virus or destructive software could appear t¢ be useful, but will actually cause damage

once installed ar run by a user?

1. Hoax

2, Worm

3. Trojan Horse
4, System Sector

54! vhiea @] 50 TSR @ a0y SEl Skoided UItedaR SUanl Hoid aidl &, e U@ 91X Siedas
S @ & alG SYal 94 gl R 91d H 394 49 sl 6

1. B1e (HOAX)

2. 91H (WORM)

3. 2184 81 (TROJAN HORSE)

4, 7% §aed  SYSTEM SECTOR)

[Question ID = 4408][Question Description = 135_81_GP6_SEP22_S2_Q35]
1. 1 [Option ID = 17629]
2. 2 [Option ID = 17630]
3. 3 [Option ID = 17631]
4. 4 [Option ID = 17632]

31)
According to Neise Pollution (Regulation and Centrol) Rules in India, noise (Lsg) in educational institutions

during night time (10pm-6am) must not excesd

1.35 dB
2.40dB
3.45dB
4, 50dB

HRa H @ gguu (fafHes wd Hgam) Fgaed & sgar, 6E sl # U9 10 99 g 4 6 99 i
% @1 AGid H GH (L.,) BT SR FEiced 9 e T8 sH9rey

1.35dB
2,40 dB
3,45 dB
4, 50dB

[Question ID = 4409][Question Description = 136_81_GP6_SEP22_S2_Q36]
1. 1 [Option ID = 17633]
2. 2 [Option ID = 17634]
3. 3 [Option ID = 17635]
4. 4 [Option ID = 17636]

32)
The percentage increase in carbon dioxide concentration in atmosphere from pre-industrial

times is approximately

1.55 %
2.50%
3,74 %
4,62 %
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1.55%
2,50%
3, 74%
4,.62%

[Question ID = 4410][Question Description = 137_81_GP6_SEP22_S2_Q37]
1 [Option ID = 17637]
2 [Option ID = 17638]
3 [Option ID = 17639]
4 [Option ID = 17640]

A w N =

33)
The highest nonzero dose at which ne toxic effect is observed in a study on animals is called

LDsg

. NOAEL
. LOAEL
. NOEFF

S 0 T W

Hfman R I om0 | o o [ue guE 9Fal ) 3EET | Fel o l ol 8, FgkRad
Hel Il & :

1.LDsp

2, NOAEL
3. LOAEL
4 NOEFF

[Question ID = 4411][Question Description = 138_81_GP6_SEP22_S2_Q38]
1. 1 [Option ID = 17641]
2. 2 [Option ID = 17642]
3. 3 [Option ID = 17643]
4. 4[Option ID = 17644]

34)
Given below are two statements, one is labelled as Assertion A and the other is labelled a5 Reason R

Assertion A: Hybrid Electric Vehicles' (HEVs) fuel running cost is lesser than Electric:Vehicles (EVs],

Reason R: Hybrid Eleciric Vehicles have beth an intemal combustion engine and an enboard electric

power generation system.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A'is correct but R is not correct

4, A is not correct but R is correct



o Ty GUIN S U o) AT (4) R T © ORI (R) T T B
AU (A) : TTISS FONGLP ATBH1 (HEVS) BT S8 T1a TN Seilae® a1ed (EVs) § P &1
ﬁ (R) : TETES Fafee® g ¥ 3iaft® ged 39 IR 6 913 gafded fggd Ides uone aFf
|
Iulad DYH| & HTI® 5 FHidd e 3 § T8l S g ;
1. (A) 3R (R) GFT 981 & 3R (R), (A) F 9l AmE 81
2. (A) 3R (R) THT W81 § T3 (R), (A) B el oI1e T8l &1

3. (A) HEl € TR (R) eI 78I B
4 (A) W18 B UG (R) HRI B

[Question ID = 4412][Question Description = 139_81_GP6_SEP22_S2_Q39]
1. 1 [Option ID = 17645]
2. 2 [Option ID = 17646]
3. 3 [Option ID = 17647]
4. 4 [Option ID = 17648]

) What is the correct chronological order of sequence from clder to newer of the following agreement,
summit and protocaols?
A, Paris Agreement
B. Mentreal Protocol
C. Kyoto Protocol
D. Rio Summit

Chowose the correct answer from the options given below

1.A,BCD
2B DCA
3.ACDE
48 C DA

HiaRey orgihan, Rre gy W@ sl & OTH 4 0 SaHd § el o0 Hl 6 7
AT Fagha

8, Alleas Hieidia

C. eI Heldla

D. feai Rrew wie

7 74U T fadbed] 5 & Wel S7R 4 ;

1.ABCD
2B DCA
3.ACDEB
4B, CDA

[Question ID = 4413][Question Description = 140_81_GP6_SEP22_S2_Q40]
1. 1 [Option ID = 17649]



2. 2 [Option ID = 17650]
3. 3 [Option ID = 17651]
4. 4 [Option ID = 17652]

36)
Which of the following universities is an Institute of Eminence?

1. Central University of Gujrat. Gandhinagar
2, University of Hyderabad

3. Tezpur University

4, Jamia Millia Islamia

fgfarad aufaaed 8 € oF 9 aeas 99 § 7

1. TR S faufaee, TR
2. BEaTE [aefaerey

3, degR [agideeE

4, SITeE i sk

[Question ID = 4414][Question Description = 141_81_GP6_SEP22_S2_Q41]
1. 1 [Option ID = 17653]
2. 2 [Option ID = 17654]
3. 3 [Option ID = 17655]
4. 4 [Option ID = 17656]

37)
Given below are two statements

Statement I: With Academic Bank of Credit facility in place, a student will be able to customize and
design own degree, provided 50% of credit are from the higher education institutions awarding the

degree.

Statement |I: Credits once used or redeemed by a student cannot be used for any other formal purpose

Or course wavers.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statemenit |l are incorrect

3, Statement | is correct but Statement || is incorrect
4 Statement | is incorrect but Statement |l is correct



TY - | HBelS g5 b Bige YAy ar EH T TN, BF G- 5 B TEeaed §9H au] [SEed
T H W& B a9 50% $ioe, (57 & ard gwa) (R4 Her &l
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[Question ID = 4415][Question Description = 142_81_GP6_SEP22_S2_Q42]
1. 1 [Option ID = 17657]
2. 2 [Option ID = 17658]
3. 3 [Option ID = 17659]
4. 4 [Option ID = 17660]

38)
In a State government university or Central University, recommendation of the Selection Committee for

the recruitment of the faculty is-approved by the

1. Academic Council

2, Executive Council

3, Finance Committee

4. Chancellor of University

U TR & [a4faered @1 s-a1y [asfaeed H, 4er & 4dl & fau 994 giHfd @ MeiRe & Wied
Fafatad g i a6 ;

1. 9if&® ulg

2, FEGR] UNEG

3. fag afafe

4, fayfaeoy & panfugfa

[Question ID = 4416][Question Description = 143_81_GP6_SEP22_S2_Q43]
1. 1 [Option ID = 17661]
2. 2 [Option ID = 17662]
3. 3 [Option ID = 17663]
4. 4 [Option ID = 17664]



39)
Environmental education encempasses the issues of

A, Resource Consumption

B. Environmental degradation

C. Biodiversity loss

D. Economic empowerment

E, Climate change and its impact

Choose the correct answer from the options given below:;

1.4, B, Cand Donly
2.A B CandEonly
3,B, C, D and E only
4 B and Eonly

gaieeolig e J Fefiad 9t wnidc e
A, TEIEE 4T

B, JHfaRuIy g

C. 5id fafgsar &1 g1

D. e Tfdga

£, Sierarg uftad Tl SOl 9ya
e fou e fased! 7 4 1 SW T ;

1.6aA A, B, C IR D
2, FaAA, B, CHRE
3. %99E, C, D IRE
4 FAAR ARE

[Question ID = 4417][Question Description = 144_81_GP6_SEP22_S2_Q44]
1. 1 [Option ID = 17665]
2. 2 [Option ID = 17666]
3. 3 [Option ID = 17667]
4. 4 [Option ID = 17668]



40)
Given below are two statements

Statement |: The recommendations of the Radhakrishnan Commission in 1949 resemble those of

Calcutta University Commission in 1917,

Statement Il: The recommendations of the Mudaliar Commission in 1953 resemble those of John
Sergent's pest-war Educational Development Plan in 1944,

In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement | and Statement Il are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

@Y - | : 1949 H JUGEYUH A @I (BRI 1917 H Sowal [ayaeed Hhn of [gsiiEl & 922 g

@Y - 11 : 1953 F HGlerR A &1 Rwigl 1944 H S 90¢ & I§ 9¥id Qiee e gienr o
Rwfeeil & geg &

Suad YAl & e § FgeiEd Fedl § 1 9d W

1. 0YF | 3R || BF TR B
2. FYA | 3R 1 EF TEd B |
3. P | el o, [ @9 11 TTEd 81
4, YT 1 T4 & , fobq YA 1| G818

[Question ID = 4418][Question Description = 145_81_GP6_SEP22_S2_Q45]
1. 1 [Option ID = 17669]
2. 2 [Option ID = 17670]
3. 3 [Option ID = 17671]
4. 4 [Option ID = 17672]

Topic:- 22 GP_29SEPT22_SH1_52_C



1)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from a-single relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are paossible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic viclence (Hobbes) or in pacific ignorance of one another {Rousseau), is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emotional faculties needed
to promote social cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodal cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The shared biological nature of humans influences

1. The division of sodial constructs

2. The nature of institutions in seciety
3. The political behaviour of people
4, The formation of social groups
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[Question ID = 4419][Question Description = 146_81_GP6_SEP22_S2_Q46]
1. 1 [Option ID = 17673]
2. 2 [Option ID = 17674]
3. 3 [Option ID = 17675]
4. 4 [Option ID = 17676]




2)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

Human beings did not exist in a pre-social state due to

1. Social kinsfolk

2, Human pelitics across cultures:

3. Institutional limitations

4, Absence of individual independence
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[Question ID = 4420][Question Description = 147_81_GP6_SEP22_S2_Q47]
1. 1 [Option ID = 17677]
2. 2 [Option ID = 17678]
3. 3 [Option ID = 17679]
4. 4 [Option ID = 17680]



3)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

From the author's point of view, the main characteristic of human society has been

1. Anarchic violence

2. Pacific ignorance of ane another
3. Kinship based sedial groups

4. Calculated individual relations
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4)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The concept of social cooperation involves
A Kin selection

B. Cognitive faculty

C. Emotional detachment

D. Reciprocal altruism

Choose the correct option:

1.4 and B only
2.B and Conly
3.Cand D only
4.4 and D only
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5)

Read the given passage and answer the questions that follow

Human beings are not completely free to socially construct their own behaviour. They have a shared
biclogical nature. The nature is remarkably uniform throughout the world, given the fact that most
contemporary humans outside of Africa descended from asingle relatively small group of individuals-some
fifty thousand years ago. This shared nature does not determine political behaviour, but it frames-and limits
the nature of institutions that are passible. It also means that human politics is subject to certain recurring
patterns of behaviour across time and acress cultures. This shared nature can be described in certain
propositions like that the human beings never existed in a pre-social state.

The idea that human beings at one time existed as isolated individuals, who interacted either through
anarchic violence (Hobbes) or in pacific ignorance of one another {Rousseau). is not correct. Human beings
as well-as their primate ancestors always lived in kin-based social groups of varying sizes. Indeed, they lived
in these social units for-a sufficiently long period of time that the cognitive and emetional faculties needed
to promote sorial cooperation evolved and became hardwired in their genetic .endewments. This means
that a rational-choice model of collective action, in which individuals calculate that they will be better off by
cooperating with one another, vastly understates- the degree of sodial cooperation that exists in human
societies and misunderstands the motives that underlie it.

The next one'is the idea of natural human sociability. This is built around two principles; kin selection and
reciprocal altruism. The principle of kin selection or inclusive fitness states that human beings will act
altruistically toward genetic relatives (or individuals believed to be genetic relatives) in rough proportion to
their ishared genes. The principle of reciprocal altruism says that human beings tend to develop
relationships of mutual benefit or mutual harm:as they interact with other individuals over time. Reciprocal
altruism, unlike kin selection, does not depend on genetic relatedness: it does; however, depend upon
repeated, direct personal interaction.

The passage recognises-the fact that human sociability has

1. Pelitical determinants

2. Rational cheice model

3. Integrated cellective action
4. Genetic linkage
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